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The least natural number which when divided by 2 gives remainder 1, when divided by 3 gives
remainder 2 and when divided by 4 gives remainder 3, is :

(A) 23 (B) 17 (C) 31 (D) 11

2 ({219 FROA 1 ST 219 #1191, 3 (@ =6 TR ST 2 219 [ SR 4 (F 239 SR ST 3 2017 2/
TRANAIF ool FreiRE ALAIG! (2R ¢

(A) 23 (B) 17 (C) 31 (D) 11

T FreiiRF AL TCE 2 1 ol FACET SRS 1 A, 3 B Ol FACET SRS 2 ANCF 32 4 [ olel
FACET SRS 3 AF @I T ¢

(A) 23 (B) 17 (C) 31 (D) 11

Tefaa fafym sEfsmn SmaEl 2 S Teet 1 TRl 9r, 3 S el 2 TGl 91 3TRI 4 Sii Teer 3
TGRS I, o AT e

(A) 23 (B) 17 (C) 31 (D) 11

g JATH Whfaeh He 5 2 @ faaifad & W 9wwd 1, 3 | fawfsd w0 | dwe 2 3R 4 9 faafsa
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(A) 23 (B) 17 (C) 31 (D) 11

In which country was Christopher Columbus born ?

(A) Spain (B) England (C) Portugal (D) Italy

@ e TP TR W (2T ?
(A) =z (B) T (C) Igalis (D) Z5ife

{FEH PR FATHA (I (T ST FE 2
(A) = (B) =G Q) (g

?%\
3

foh&d "R Shelt e SIFM 8154 STed -

(A) = (B) I (©) e (D) seredt

foRESTH Shiciard 1 ST fohd <91 H g1 o1 ?

(A) & (B) gwiE (C) g (D) s
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Two bells A and B are rung such that the bell A rings at every 30 minutes and the bell B rings at
every 25 minutes. If both the bells start ringing simultaneously at 6 am, then the very next
simultaneous ring will be at the time :

(A) 8:00 am (B) 8:30am (€ 9:00 am (D) 9:30 am

wG! 961 A =% B A TBICH! @ifs 30 fSfaba 3= 03 == B 9BIcH! @if 25 fifte w03 @ Afe T 1 3
TCAG! 9512 6 am © Q09! TS S, (STF T61 W! Graieal Jifer Tot 5k 7St o1 T4 ¢
(A) 8:00 am (B) 8:30am (€ 9:00 am (D) 9:30 am

9% qB1 A @3 B GSRTSICA A 22 (9961 A 2l 30 SIS et @32 91 B @l 25 Rl Aicer | I el
6 51 TOF TGB! 42 AL ACCS SF F(F, ©CF 20| G9! A T 297 ¢

(A) 8:00am (B) 8:30 am (€) 9:00 am (D) 9:30 am

A 3T B 5= -G NG AR SR S A 1 Yaeh 30 Tafera Smsirl o B a1 gae 25 faftera | e
el T TS Hi 6 ReTare TsHl, STea o 5= 731 ARG Hisadl S SIS ?

(A) 8:00am (B) 8:30 am (€) 9:00 am (D) 9:30 am

T wifeal A IR B 39 YR I8 Wl € T Sidl A U 30 fie R oot § &R &t By 25 e W

STt § 1 Afe S sl Yo 6 oS Tk W1 SISl T € S, O Sl Teh | SIS Rl WA 8
(A) 8:00 am (B) 8:30am (€ 9:00 am (D) 9:30 am

Simplify : \/51 + \/134 + 5442 + /16 + 9
(A) 15 (B) 12 C) 8 (D) 16

WW?\/51+\/134+5\/42+JE+\/§
(A) 15 B) 12 ©) 8 (D) 16

WW?\/51+\/134+5\/42+\/E+\/§
(A) 15 (B) 12 C) 8 (D) 16

\/51+\/134+5x/42+ﬂ+@ EIRINGRCICIL
(A) 15 (B) 12 © 8 D) 16

WA F 2511134 + 5 42 + V16 + O
(A) 15 (B) 12 © 8 (D) 16
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The product of the roots of the quadratic equation 2x>—5x+ 6=
(A) 2 (B) 3 © 5

IS IR 202 —5x + 6 =0 I TN (F2H 2T (2R 2

(A) 2 B) 3 © 5

29I ARl 202 —5x + 6= 0 G SR Bope] 257 2

(A) 2 (B) 3 © 5

2x2 =5y +6=0 ST FHFALRMA ASTRRMA TFEEET

(A) 2 (B) 3 © 5

fEema IR0 262 —5x +6=0 % el I OA®A ¢ :

(A) 2 (B) 3 © 5

0is:
(D)

Which of the following statements is correct ?

(A) Sikkim shares border with Assam.

(B) Sikkim lies towards the west of Assam.

(C) Assam shares borders with Sikkim and Meghalaya.
(D) Bangladesh and Sikkim touch the borders of Assam.
_‘_:M: s RiY @5‘_\165 W@@ ?

(A)  Tofesm ST SPIe 108 i e |

(B) Tofes wpris #if<pa frrers oz |

(C)  SPTIR TIE fofst iR (TaIeTER I =il 5(F |

(D) A == B ST 3T opf 7 |

v (i Rt wm 2

(A)  FIRE SRR FTNICER A |

(B) SPIGR #Fofrcs fifes efge |

(C) FIfF 93% GIIFER 05 SRR A TR
(D) JHCM @3 PR ST T8 R0 |

e o« faeferm e ?

(A) Tafora sTamsT 5w Tsar |

(B) Tafesrmn stramfs wireRT et |

(C) ST fafaerd 3T HeTerast HHThR TSl |
(D) areest 3T fafaermn s fammdRre e |

frefafed woi & § S W& T2

(A) Tafera =t dmr o 9 o 2

(B) fafawrm smam & ufvem # feom 71

(C) /Y ot g fafaewrs iR Aerer @ o 7
(D) iTenes iR fafgry st e o8| § ot 1
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A tank can be filled by 6 pipes in 80 minutes. How long will it take to fill the tank by 8 pipes ?
(A) 45 min (B) 60 min (C) 48 min (D) 70 min

G5l (55 6 T #A1ZoR TRIE 80 FfTS o T #iif7 | (GBI 8 e 1127 7RI oo Fftet fFww
S G 29 2

(A) 45 WG (B) 60 WG (C) 48 WG (D) 70 WG

G #11g 6 {6 71 =R &6 Fco 80 HIFG 7= =1ieal | 8 6 &1 =i #11afs ST TS T F A 2
(A) 45 [IfG (B) 60 fIfD (C) 48 NG (D) 70 fIfG

g HFaEt 71 6 Tfersit @t 80 fafte a1 7 8 Ffarsii 34 g e ?
(A) 45 fafTe (B) 60 fafte (C) 48 fafte (D) 70 fafte

Teh Tt hl 6 TIETT T 80 T T SR ST Hehal €| 8 IRl §I0 Zoh! ol WA | o 99T oim 2
(A) 45 fAe (B) 60 fie (C) 48 fAe (D) 70 fAe

Which of the following is different from the rest ?
(A) Samaveda (B) Rigveda (©) Yajurveda (D) Ayurveda

S N ey

SRS (PN AR 7 ?

(A) FARIC™ (B) <cm ©) gcm (D) Smw
TR I ST (AT 7L ?

(A) T (B) =t (C) g (D) g
MMM o6 HAHAT TIARRHR a1 ?

(A) HEwEE (B) fome (C) TR (D) STFeI%
frfafed & 9 & anfewal | fa=1 §72

(A) wHIR (B) R © == (D) emgeT
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Which sport did P.T. Usha play ?
(A) Athletics (B) Badminton (C) Table Tennis (D) Cricket

1.5, Tz @[y (deme Sieiaz R ¢

(A)  92AETHRR (B) @SRIGA (C) (53 (b (D) f&=b
1.1, T (@ (IR (0o 2

(A)  SHIRCETH (B) FIGhHIT (C) GRet (Gl (D) feco
9. fa. swman a1 FeEHE ?

(A) Tifesd (B) osfi=d (C) dfda afta (D) fhehe

. 3. 39 A HH-T T T ?
(A) Toaifesm (B) wefHed (C) < | (D) ToRee

10.

10.

10.

10.

10.

Which of the following is incorrect in regards of the ICC Men’s ODI Cricket World Cup ?
(A) India has won the Cup twice.

(B) Australia has won the maximum number of times.

(C) England won the Cup in the first tournament.

(D) Bangladesh has never won the Cup.

36 71 STz Jesiel fFes Tfin Fxfeie @@ o ofe wug 2
(A) ORCS G2 Fl7l TR TS IR

(B) SIERRIE AR AN TS FC |

(C) =AML FACITS ReAe A2 Flol THene Ffee |

(D) JIAIHCH G2 FA (FoANe TS I B |

SR SEPI0T efTenz fEas fRaist 7ifFe T @ o2t a2
(A) OIS qQF G2 7l ez |

(B) SICERml W A7 fecerz |

Q) e AR afecifern farerz|

(D) IRFACH FATE TS FCAM |

FETRRM ICC ODI fshehef JgaAl 1T HiH TR 2F™ 99 fagforn o 7T ?

(A) IRAT I To @M &Te |

(B) sr&feran a1 safRgs «ifed @ S@E |

(C) fufafes M= et STl |

(D)  SCTISEN AISTSTS L@ ST |

I LT, X0 T feada i fohahe fava vu & ded § frafafed § 9 #F-91 e €2
(A) 9RA A I IR FHY AT S |

(B) eieferan ¥ Hod SAGT R S qIee i g |

(C) Y& TAMHE § $iete 3 Ky Sfiar o |

(D) werest A it w9 T e g
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11. Grandmother was cooking at a picnic, attended by her son and daughter-in-law, with their four
sons and their wives and one son and two daughters to each of the sons. How many ladies were
there at the picnic ?

(A) 8 (B) 12 (C) 14 (D) 10

11. QP! WZOE ST A ee | IS HifileT e ATSRFIR 2@ O @Y, e fe #1GiE
TS (SRS BINTH 2@ =% BIfFsjaq elfSemia Gomis 79 S qEiE SRl SISO JIS
SfeeTi e fRF wnife 2
(A) 8 (B) 12 (C) 14 (D) 10

11, G ITCSICS ST A TR0 | O 9T 3R 2G4 SIHE BIF (=0T @ OIS ex Tofgs faree «r
ATOF (R G0 I (FF GR 90 I (IR 87 | IS0 Foe N2l R 2
(A) 8 (B) 12 (C) 14 (D) 10

11, 3T SARE! ST eER siiam siteamne faeif fraren Rt foemsist @ fodRf o 3 fRaemhR e
TR fafemR ST SIhe FREeTRR T T TR fRTs S el | o AEER e STHRE
o feSTa®R S0 ?

(A) 8 (B) 12 (C) 14 (D) 10

11. << U fUehfeh R @ 51 W off, TS 391 9321 o1R =g, 399% =R 9 3IR St aferal iR e Tk

I 1 T o R q st e off | faewfrer # foraet wigemd off ?
(A) 8 (B) 12 (C) 14 (D) 10

12.  On which island hillock is the Umananda Temple situated ?

(A) Bhasmachal (B) Sandhyachal (C) Nilachal (D) Chitrachal

12. @ Turgiel Berre Taew e sz ¢
(A) ©Ibe (B) T=ibel (©) rbe (D) foam=

12. @ B3I et Tuiew wfve sk ¢
(A) ST (B) Tibet (C) TreTbet (D) foamwe

12. U< A< w6 fou grsil-foretrme € 2
(A) YHHTEA (B) HHIEA (C) THe=e (D) ==

12. SAFT Wi ford eret gia R feea &2
(A) &= (B) HeATHdA (C) e ) IREEIES!
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13. A person moves from P to Q in a semi-circular path and then comes back to P by the shortest route,
which is 4 km. The total path covered by the person in the entire journey is :
(A) @4w+2km  (B) (@w+4)km  (C) (w+2) km (D) (2w+2) km
13. @G NC2 P 3 %[ Q (61 Sa el 512 Sifods (3 1% ©F fize 4 5.1, (i g3 #[20d 77 P (71 g
WNCZ | MES @ T4 A2 JJ 0 (202 8
(A) @r+2 &R B) Er+y R (© @@E+2RR (D) eEr+2) B
13. G35 e G JLFEFF 92 P (ACF Q I G SToe7 Jeodl 212, ol 4 .5, SR I P-(o
A | {1 AR S [l Sroasel T (16 212 257 ¢
(A) @r+2) &R B) Er+y R (© @@E+2RR (D) eEr+2) B
13.  UE AEFEE GeeER | @ P wE Q fom emereis i aufrgs giew @, 4 fw.fa, S e fam
TREAT | o AT T S e ?
(A) @r+2)f®fm B @Er+4 e © @+2 &M (D) @r+2) &M
13. T SAf AR 99 § P9 Q T 9l ¢ 3R i §arg B1e AW § PR a19d o711 &, 5 4 fh. . 81 90
I H Al gRT 99 TRl T el THAT B
(A) @n+2) f&#. B) QEr+4)fEd. (© @@E+2fE#. D) @w+2) w5
14. A curved waterbody formed when a river changes its course to take a shorter path is known as :
(A) Archipelago (B) Isthmus
(C) Oxbow lake (D) Delta
14. 71 @2 55 A2l 57°ee oifS Sl FRCET 9107 (@1 GBI IF TETSIeIF (@I 2T 8
(A) &i5g (B) @&
(C) ™I (D) I-@l
14. &3 T 72 O 9o 21T F (R 512 (7T O (@ IFFR T 9Ifoe = Ot e ¢
(A) &i5G (B) @&
Q) wrrEigfo g (D) 3-@
14. 0PN YA A a1 o ST S Sie St TeiEl Seerat Eeall
(A) Teu ger e (B) ® Y
(C) TNIE SR foretren (D) dw-feu
14. 9 H1E Q1 BT T STIAN o T ST A1 SQerdt § dl o aTet! SHTIRR STl oh el Sl @ :
(A) €U aTE (B) TICTSHEHEA
(C) TG Ee (D) Se
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15. The average of 9 observations was 9, that of the first 5 being 10 and that of the last 5 being 8. What
was the fifth observation ?
(A) 8 (B) 7 < 9 (D) 10
15. GG 9 B RGeS 5 M 9, &N 5 BIF 91 W 10 S+ (179 ATGGF 5 S 8 | #I%e% 2o 3 &
et
(A) 8 (B) 7 < 9 (D) 10
15. 95 sicamweem o foat 9, 22w 5 65 10 @3k 1 578 | sizew s’ Fi fem 2
(A) 8 (B) 7 C) 9 (D) 10
15. HM 9 THEARhRM T 9 : Faitad 5F 5 1 T 10 AR A 5F 5 F=n 8 1 &' &1 e o ?
(A) 8 (B) 7 ) 9 (D) 10
15. 9 3Tkl i 3G 9 o, Teet 5 1 i 10 o 3R ifaw 5 &1 3fiea 8 o1| Tiwal TaciR T o1 ?
(A) 8 (B) 7 ) 9 (D) 10
16. How many times has Brazil won the Football World Cup ?
(A) Three (B) Five (C) Four (D) Seven
16. Tlsl o<1 (¥eTe qifercst [l 19 sere SRz 2
(A) fofa= (B) =ifvarm (C) vifsaE (D) AR
16. ifere T FoIeR Repiol fErerg 2
(A) fev (B) #i5 (C) ©= (D) e
16. SIS SEHAT FHedd ST TIY @I el ?
(A) &1 oM (B) @A C) wAd (D) =1 f&
16. STa 3 Fedrd fava w9 fohaet IR Sfiar g 2
() (B) = (@ =m (D) =
17. Apart from Jaipur, which was the home ground of Rajasthan Royals during IPL 2023 ?
(A) Guwahati (B) Dharamshala (C) Bhubaneshwar (D) Panaji
17. SN39a 2023 T WRRRIS JGTZM IR T (LFT T2/ 20T Wi (e Sifes 2
(A) @9 1215 (B)  «<lel (C) ™S (D) ARG
17. S5 QO (@I SNEfoaa 2023 @3 50 ASFI TR TED WS 57 2
(A) e (B)  &sfitetl (C) T (D) =
17. SHERM S, 2023 A IPL 1 9qma e Iedt faemn sgme ?
(A) o (B) HIHIME (©) Yo (D) TS
17. STEHTA 2023 % SR, AT o ST TS YT H1 5] HIM HiA-H1 o1 ?
(A) TEmE (B) e (©) aiwR (D) oSt
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18.

18.

18.

18.

18.

At a class test for 50 students, the average score was found to be 45.5 out of 100. Upon checking,
it was found that an incorrect data-entry had occurred where 85 was incorrectly entered as 58.
What should be the correct class average ?

(A) 54.50 (B) 46.04 (C) 46.40 (D) 55.40

50 T FrRILE BT (R AR 100 THS fOoTe 2ll® 91T 99 (202 45.5 1 SNarwere (w4l o'e (T @bt 9L
TEYGS 85 T 9120 Tl 58 o1 791 TWYE 41 (22| (HTH Al 7799 wg T w21 Tfoe 2
(A) 54.50 (B) 46.04 (C) 46.40 (D) 55.40

G (T AT 50 T RIS oG AFTE (CFE) 100 €7 [T 45.5 2N TR | SfTemize orl AR @
G35 o1 AR T TH(R, (T 85 TSI 58 FREIE 2t I AR (AT AfIS 91T Fo zem
Thw 2

(A) 54.50 (B) 46.04 (C) 46.40 (D) 55.40

T 50 TIEETRR @l STHSIEE HHA™ TS W 100 3 45.5 | ARG AHeEE @i e
TRIf-erd 85 Wi 58 foRA™ WIGH | ARG oI T3 | S 2
(A) 54.50 (B) 46.04 (C) 46.40 (D) 55.40

50 BEI & Teh H&ll TG0 § Hafl ol 319d ThR 100 § § 45.5 TR0 T | g & T, I8 9141 7T foh T
Tt S2T-Ugl g8 off, W8T 85 ol et ¥ 58 % &9 H To] kT T AT| Wl el S 1 ST =1y ?

19.

19.

19.

19.

19.

(A) 54.50 (B) 46.04 (C) 46.40 (D) 55.40

£ 2 =2 then the value of 222 i

I b 3tent e value of -~ is :

(A) 3 (B) 4 ©) 5 (D) o
a_4 6a + 2b .

Wy = 5 O gy

(A) 3 (B) 4 ©) 5 (D) o
a_4 6a + 2b 3

’Jﬁg—S?&\O 4_2b¢1€IW?<Tr{o

(A) 3 (B) 4 © 5 (D) 6
a_4 6a + 2b

Ty =3 T g

(A) 3 (B) 4 © 5 (D) 6
a_4 6a + 2b )

=3 T ik

(A) 3 (B) 4 © 5 (D) 6
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20. Which Assamese movie is based on Bhabendra Nath Saikia’s novel, Ontorip ?
(A) Pratidhwani (B) Krishnachura
(C) Barua'r Xonxaar (D) Agnisnan

20. SEEAY *ESRN GATRT FBT/7/7 FRANT TS (FIFLA SRR Qe Fi© 7z 2
(A) dfowfy (B) FeRul (C) I/ AR (D) IR

20. (IR SPRIRI beIbba(b SO 12 *EF R G/ GANIA SRR s 2
(A) «fowf (B) FpTl (C) IR AN (D) IR

20. TRMAM o6 ST FEYA WeisA1e Fefhal e |11 s7=aRyf7 9 faen Qe ?
(A) wfaeafq (B) FHOTHEl (C) el HER (D) afE™

20. HE-H st fhen woig Ty JfF & UG 7RIy W Smefa ¥ 2
(A) wfqeafq (B) FOHS (C) T®AR HER (D) SfE™

21. A + Bmeans A is to the North of B; A%B means A is to the East of B; A— B means A is to the West
of B; then in (Neptune % Saturn + Uranus — Jupiter) Uranus is in which direction with respect to
Neptune ?
(A) South - West (B) North - East (C) North - West (D) South - East

21. I A+BITL A (B BT Teq el =iitg; A%BI oL A, BI 9[37© Stz A—BI 9gf A, B I #If¥53re i,
(ST (2R % *If + 2SR — JTHI6) © (Fo{a ACATH 2CEAR (P! S SZH F1 2
(A)  wEre-oif*px (B) T&o[ (C) Tes-If¥ew (D) w-217

21. M A+B I A B 93 $&F; A%B S A 281 B @3 7 (F; A—B W A &6 B @3 2IfR60; Sizee
(AR % *F + THE —JZI0) (O TSEI (FARER AT (@ F S[Ze 2
(A) wiEFel-olfRps (B) T (C) TeR-vfox (D) w5

21. S A+B T efiforn - Aa1 B w@If; A%B a1 - A= B AFSY; A—B A - A B GFEfY, seen
(TG % VT + TIAH — JSEATUR A7e) TS TIGAA wFaife) ?
(A) We-9FEd (B) |- 9 (C) 91 - gHE (D) @Il - FAs

21. ACA+BFASTREA BHFSHAL AYBHF I SRH A BFIE H R A— B a1 ¥ o A, B ufvem
HE A (A0=A % O + 09 — geeafa) § A=A & day § G oy fam § 872
(A) Tfeu-ufem (B) SW-TE (C) Sw-ufead (D) <f&U-gd

22. Identify the proper noun in the following list.

(A) High mountain (B) Black car (C) Deep sea (D) Pacific Ocean
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23.

23.

23.

23.

23.

Three numbers A, B and C are such that the HCF of A and B is same as the HCF of B and C. If the
LCM of A and B is three times the LCM of B and C, then the ratio C: A is :

(A 1:9 (B) 3:1 <) 9:1 (D) 1:3

TSB! 71227 A, B 9% C (R SZ IO A < B I 51% B i< C I 511 (A0S A | I A =19 B
T B 9% C 9 a9ied foli @i o1 (or® C: AT ¢

(A) 1:9 (B) 3:1 ) 9:1 (D) 1:3

&S A A, B @3 C @59 (@ A @33 B 97 5PTI%, B @38 C @ 971%3 T | M A 3% B @3 #11% B @3]
C @3 TPNeF fomad 20 o[ Sgaife C: A 33 ¢

(A) 1:9 (B) 3:1 ) 9:1 (D) 1:3

A, B, C sHfSHm™n e S A &R B 7 T.enan o1 B C (7 Tenan < 991 9ff A SR B 4
T A1 B AR C 1 g4 7 Aesermem, stea C 3R A 11 e5emn

(A) 1:9 (B) 3:1 ) 9:1 (D) 1:3

T FE=ATd A, B 3R C UE § fF A 3R B %1 Hewq WHUEd, B 3R C 1 Tedd U & 99 €1 AfG
A 3R B 1 A9 FHYE, B 3R C % ole[H HT9ac 1T+ 1 8, d ST ad C: A% :
(A) 1:9 (B) 3:1 (€ 9:1 (D) 1:3

24.

24.

24.

24.

24.

A six-faced die is made in such a way that the sum of the dots on the opposite faces are always
equal. Which of the following pairs is not opposite facing pair of the die ?

(A) 1,4 (B) 2,5 © 1,6 (D) 3,4

@ iAo sl & fbw KTz aewics Siitg Tits @S [Reidts 21757 R 0 isreet smiz s | fsfafis
(I R TR slai Jieidre fifde T2 2
(A) 1,4 (B) 2,5 © 1,6 (D) 3,4

G5 YT A TSI TO] F W S [ATTe AT Ko (ieieee] Ao T | Ao (i
(ST 2 AT 77 RoFTS (ool 71 2

(A) 1,4 (B) 2,5 © 1,6 (D) 3,4

< Al T SRaE! 3T SRl Siere faf See fraihri fa< e Ssiere Stscsl 99M | TRE
I SIEAT o SREA el S/ Gl ST 2

(A) 1,4 (B) 2,5 © 1,6 (D) 3,4

T B¢ GEl 991 39 YR ST 9t © T foradia werehl W foigai ot 2T eien sRieR a1 ¥ 1 frefated o
Y -1 SIS 39 I 1 foadia sirer & € 2
(A) 1,4 (B) 2,5 @ 1,6 (D) 3,4
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25.  Which two countries does the Gobi Desert touch ?
(A) Sudan and Egypt (B) Saudi Arabia and Iraq
(C) Turkmenistan and Uzbekistan (D) China and Mongolia
25. (I 74 O (oMl TR I o sfacg 2
(A) poN IR 2fed (B) (@ W< W1 231
Q) TIEEN BF TSARFBI (D) BF IR Skeanfer
25. (oI} SPgfil (iR 9fb oIt =l Scac 2
(A) i @R e (B) CTI =N €3 Z1
Q) THEFEN R RSB (D) B @3 weswifera
25. 'Sl AT SR 9 TR HIATAE Aere :
(A) e[ R fee (B) ¥R & 3N 3k
(C) TehHITEIH A ISTSATREIH (D) = & Hafern
25. el FEENE fohA < <O R W § ?
(A) YoM IR = (B) IRl 3T 3R T
(C) THufam iR Iefheam (D) = iR Haiferan
Paper-IVIF 17 P.T.O.



26. Which of the following is best depicted by the diagram ?

(A) Cat, Fat, Rat (B) Food, Clothes, Friends
(C) Assam, India, Asia (D) Geometry, Botany, Economics

26. ove fous W @HER FTeTerE bfae s 2

(A)  CTFd], =TS, 4 (B) <1, 7T, 35

(C) <P, O, «feml (D) eifufes, Tfgwiw, s
26. =we At TIGA @ SISl 396 T 2

(A) R, G, 2 (B) <, T, T

(C) =P, T, «f* (D) ifsfs, Sfenfm, widmife
26. o QEIRET A ety fefer 2

(A) &N, HRERIHI, TSI (B) TSI, GHME, ANIRR

(C) 319, 9N, ThEan (D) Ay, A oM, Tt
26. foa M svm frafafea § @ o qufar 22

(A) o, e, @ (B) @I, hUe, SR

(C) T8, YRd, TRMN (D) ST, It fagm, stefemes
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27.

27.

27.

Which of the following diagrams best represents Writers, Teachers and Musicians of our society ?

O ©
O
& (©

o o

RS (PG HEs ST TMIER @145, B S 75 e A5 Ay ©id Afefing o 2

O ©
O
& (©

[ema e ot SN NS (@135, M G2 TR oM FACE SIS SoEIow FAE 2

(©)

E
E
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27. & HEAREAT S FHEH fRARER, BRIFNER SR SEfRera! aere fefem 2
« (OO
27. Trafafed § @ =6 @ oot TAR 991 & e, ekl oIk Siaewri o Jed 37es1 Tiafiae i § 2
« (OO W
28. The primary raw material used by the Assam Bio Refinery Private Limited is :
(A) Bamboo (B) Water Hyacinth
(C) Sugarcane waste (D) Banana plants
28. P (&R (LIS 2iEeeh FIfRibes e el (Fome 7e ¢
(A) 3z (B) ATl GG (C) I wEEa (D) FwlR
28. P (Gd (<IEAIANE AIBCST FNCOT @R Bl IR 2RfRe FibTIie 287 ¢
(A) 3 (B) oMl (C) SR IS (D) JeTl iy
28. a9’ RepreAmR 9. fafgesre deresmn s e qamn -
(A) (B) Gferam (C) TR GA (D) enfer for
28. | o s wigee fafies gr1 SwinT feran S el s e A @
(A) =™ (B) Stersht (C) T T e (D) el & WY
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29.

Which of the following is a collective noun for ships ?
(A) pack (B) herd (C) swarm (D) fleet

30.

30.

30.

30.

30.

Which of the following mountain ranges is in Jammu and Kashmir region ?
(A) Pir Panjal range (B) Satpura range
(C) Dhauladhar range (D) Mishimi Hills

o o

T W I SIeeTS RARS @G AfewEl S 2
(A) TR Agiel siFeTe (B) resal sifewien
Q) (FENNR Ao (D) Fffit otz

TR (&I AT o777 @ I e S[fFS 2
(A) TR 2Nge sRod (B) el siFer=dl
Q) (TR Aot (D) Fffi ot

ool il e 19 TR SRR A ?

(A) TR o~ g faik (B) &gy B ARk
(C) dremr g faRk (D) fafafa g

frefafed § @ SF- vda Soen 99 iR FER 8T H 82
(A) HRHSTA gt (B) Hager guit
(C) dreur Joft (D) Taferdt goft

31.

31.

31.

31.

31.

Which of the following is an award exclusively for music industry ?
(A) The Oscars (B) Emmy Awards (C) GoldenGlobe (D) Grammy Awards

o oo

RS (@FING! A4S SR @F SIgs il 61 2
(A) IHR (B) @i @Gy Q)  CaNTT (2 (D) Caft @RIy

THA (@0 RO e ¥am 3 2751 2
(A) SER (B) @ 7= (C) (M= (2l (D) anfel 5=

MM T ST SHATE -G SISl 9H<l € 2
(A) IT=RRE (B) TfH warew (C) e T (D) UfH warEw

frafafead § @ oF-o1 [EhR fagy &9 9 d@iiia 3am & fog &2
(A) AR (B) THI qT&R (C) Tiieed @ (D) TH R
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32. Who has been honoured with Assam Baibhav in 2024 ?
(A) Ratan Tata (B) Ranjan Gogoi
(C) Tapan Saikia (D) Ranjit Shekhar Mooshahary
32. 2024 TS I TP (0T T 2l I T2 2
(A) T B! (B) <& aital
(C) Ol Tl (D) e (143 TR
32. 2024 FACST I SO (TS A AW S AR 2
(A) o BIBI (B) & sital
(C) oI =z (D) Ffg® ez P
32. 2024 WEYEMN STHM 49 AEE HA 6 a2
(A) T2 (B) T=H T'ME
(C) 9 Tfean (D) Y= ¥ER JRer
32. 2024 ¥ o9 dva § fRE et foran o © 2
(A) T T (B) IS
(C) 9 Hferan (D) Ia IR RN
33. A person purchases x number of items at the rate of X x per item. The shop-keeper gives him a total
discount of T x after which he pays X 156. The cost per item after the discount is :
(A) %13 (B) 12 (C) %16 (D) 14
33. GG (R x TS x FRAF AT T FRCE | (PTG (96 JJ T v 2o (@212 2 7919 +112e (08
% 156 +AfReaita IR0 | (T2 2R vz AfSCh ANTR FTED (207 ¢
(A) T 13 (B) T 12 (C) T16 (D) T 14
33. e & x RS AT T x QA G A | (I I (A T x WS (RS 211 (31 156 ARG A |
QICTA 77 2B AT o1 25 2
(A) T13 (B) T 12 (C) T16 (D) T 14
33. O AETEAT x TATHRE BAEAE 3 ¥ o8 BHM o | ST foe <3 3y 1 @ g 39 fo 2156
T S | @ B A T8 Gt oG o ?
(A) T13 (B) T 12 (C) T16 (D) T 14
33. W& Afdd T x Ufd TMEH & W x 3MEeH TS 81 THAER U FA T x I B2 a1 © 19k 918 98

% 156 T A I &1 T2 & 9IS Uid TEH Hl A © :
(A) T13 (B) %12 (C) T 16 (D) % 14
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34. The value of \/0.09 + /1.69 is:

(A) 1.78 (B) 1.6 (@)

34.  J0.09 + 1,60 I A 2
(A) 1.78 (B) 1.6 (@)

34.  J0.09 + /1.69 99 WA ¢
(A) 1.78 (B) 1.6 (@)

34.  J0.09 + /1.69 FHMA:

(A) 1.78 (B) 1.6 (@)

34. 0.09 + J/1.69 I HIT :

(A) 1.78 (B) 1.6 (@)

1.33

1.33

1.33

1.33

1.33

(D)

1.5

1.5

1.5

1.5

1.5

35. Name the Mughal emperor whose army was defeated at the Battle of Saraighat.

(A) Aurangzeb (B) Shah Jahan ©)

35. *QiZaia ae “HEE 99 I GIlole FFOSH (I 2
(A) SRR (B) viEEmE Q)

35. *RIZAIA Y& (@ (ol 7916 “A1fere Zafers ©oF w1 J63 |
AR

(A) @S (B) iz (C)

35. H{I‘.{)Hldi:l GlaelHld !sisllHld Hecl HdHI< qH ?

(A) SRS (B) I SIRM (C)

35. 39 IS WHIE 1 AMH FAeC fSTTeh! 91 INEHE o 45 H o Tl off ?

(A) SR (B) V&SRl ©)

Babur

BISE

EIELS

EIELS

(D)

(D)

(D)

Humayun

RIS

RS
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36. The longest diagonal that can be found in a regular cube of side 1 cm is :

(A) 2cm (B) 2 cm (©) 3cm (D) 3 cm

36. 1.5l IS GF I T 27 271 Fiow P9 0L ¢
(A) 2 GAL (B) 2 ®.J (C) 3 @A (D) /3 G

36. 1 @1f Ak iR« Fafire T wiqee w4 == ¢

(A) 2 @AW (B) 2 @f C) 3@ (D) 3 @ifw

36. MY 19.f4. % T s wrefea @ ' g
(A) 29 (B) 2 9.f (C) 39 (D) /3 9.

36. 1., Yo7 Al fafad == o e S A ged o faw §
(A) 29 (B) 2 |.HI. (C) 39 (D) /3 9.

37. To which emperor was Chanakya the royal advisor ?
(A) Samudragupta (B) Ashoka
(C) Chandragupta Maurya (D) Skandagupta

37. BIRY (I SIS AF6 ATH I SAWMS! et ?
(A) T@edy (B) (¥ (C) ey G (D) JIWwY

37. DI (i FFIGA G GoAWS! e 2
(A) TEed (B) SIS (C) vmed G (D) JIMuY

37. SIS Fd THRM TSR e BIFTREA 2

(A) T (B) 3Terh (C) == H (D) h=w

37. U fohg THE % W TR 9 ?

(A) T (B) 3Feirh (C) e W (D) e
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38. (1% of 1)+ (2% of 2) + (3% of 3)=?
(A) 0.06 (B) 0.6 (C) 0.41 (D) 0.14

38. (19 1%)+(292%)+ (39 3%)="

(A) 0.06 (B) 0.6 (C) 0.41 (D) 0.14

38. (199 1%)+ (2 &9 2%) + (3 & 3%) =2

(A) 0.06 (B) 0.6 (C) 0.41 (D) 0.14

38. (1M1%)+2% 2% )+@ 3% )="

(A) 0.06 (B) 0.6 (C) 0.41 (D) 0.14

38. (11 1%)+ (2 2% )+ (3 H3% )="?

(A) 0.06 (B) 0.6 (C) 0.41 (D) 0.14

39. In which sport did Monalisa Baruah (Mehta) and Tridib Duarah represent Assam ?
(A) Badminton (B) Volleyball (C) Taekwondo (D) Table Tennis

39. (PERE (4TS ITeTbl 941 (TIRel) oF: fava TaRiE s afsffag TR 2
(A)  @CHrGY (B) SHRE (C) TizcRIe! (D) (53 (Bl

o

39. (iferT TRl ((IRel) @R @ gl (I (4 SR elfsiniag FEfe 2

(A) TS (B) efere (C) SRR (D) (bRt (B

39. TIfcrEn e (FHed) AR ffed gormn 98 SeREaRAEE! STHH SEH e ?
(A) defi=ed (B)  fctaret (C) dmE e’ (D) dfea af|

39. HHIfe™ s%eT (Fear) IR fafca gem 7 fora wa # omw o1 wfaffae foran ?
(A) defHed (B) afchalra (C) TrEEEEl (D) <oa fE

Paper-IVIF 25 P.T.O.



40. Identify the water reflection of the given figure.

(A

~—

° 4
T

_1

(B)

7
—

40. 2va foud oo dfewe™ Hacs! Bare 355 |

N

(A

~—

|

(B)

_ 1
-

40. 2 Brad TEd AT FE T2+ |

° 4
T

_1

40. B TEMRE <eTe RiwArrgr o= |

_ 1

(A)
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40. feu e o5 & Sio1 gfafsia =l == |

i)

[ _ 7 3
1 o

o

41. What would replace # in the sets ?
{5, 120, 3}, {9, 630, 5}, {9, 810, #}

(A) 8 B) 7 © o (D) 4

41. {5, 120, 3}, {9, 630, 5}, {9, 810, #}

OO # HFs [ edfozion FR[ 2

(A) 8 B) 7 ©) 6 (D) 4

41. e WEouflce 4 HEha e F afezifre =@ ¢
{5, 120, 3}, {9, 630, 5}, {9, 810, #)

(A) 8 B) 7 © o (D) 4

41. {5,120, 3}, {9, 630, 5}, {9, 810, #} YSXHRIS # W TS W1 S ?

(A) 8 B) 7 © o (D) 4

41. T {5, 120, 3}, {9, 630, 5}, {9, 810, #} W # 1 TN =T & ?

(A) 8 B) 7 © o (D) 4
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42. The addition of two binary numbers 11 and 10, when represented in binary system is :
(A) 101 (B) 110 (C) 010 (D) 111
42. Ao AR 5! 27 11 B 10 § (@916 @o 2Aelietrs 2P| R 2ie FRRCH! ¢
(A) 101 (B) 110 (C) 010 (D) 111
42. 7 &l 727l 11 @R 10 93 (e fafsis Awfore a0 23 ¢
(A) 101 (B) 110 (€) o010 (D) 111
42. HFA SRR SR 11 3R 10 7 STeE! sHSHHER SHfSHREE S |
(A) 101 (B) 110 (C) 010 (D) 111
42. < fgemumd demsi 11 3R 10 1 901, e fgamerd yonett # <ot S €, @ A R
(A) 101 (B) 110 (C) 010 (D) 111
43. Which Continents does the Mediterranean Sea lie between ?
(A) Asia and Europe (B) Europe and Africa
(C) North America and Africa (D) South America and Africa
43. (IR I RIS ST GRS SAFS 2
(A)  «afeR == TR (B) TT@IA B=: S
(C) TR CRH O SIfF<l (D) Wifwel SICaRl wiise SIifzr<l
43. QAP (I G SRICICHR (&) SRZS 2
(A)  afRI @R 2T (B) TTEIP @k W
(C) T IR G3R S (D) WFe SRR G SRl
43.  YHISRALNSR AT 99 T AT o)1 ?
(A) TEA SR U (B) 33U 3T 3TfRaA
(C) HI-3THRERT 3T AR (D) Erel-3THRERT 3R AR
43. A=A AR foRe HRgdl o ot feem €2
(A) TR SR I (B) T R TFIHI
(C) 3T Tfeht 3R TR (D) <faror SRR SR STHiehT

Paper-IV/F 28



44. Identify the correct mirror image of the figure.

—>

(A)

44. e foag w7 wicollel AfSR=n! ore 75 |

—

—>

(A)

44. ove orag woite 7 2o e T |

—>

—>

(A)

44. IFAEE e sEfc geamiE! 99a’ .

—>

(A)
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44, THA S HE U0 B GREH |
—
<
< < —> <
(A) (B) © (D)
L~ — <
45. Which of the following is a stringed musical instrument of Assam ?
(A) Dogor (B) Xutuli (€) Kaaliya (D) Tokari
45. RRIRS (TG (2R TR OF SIS MG ?
(A) W (B) gl (©) ifer (D) CormIt
45. SIA (P SHCR G0 OIS IAMIE ?
(A) TR (B) =gfet (C) wifer (D) G
45. TS ST ST T8 AR < 2
(A) T (B) @ (C) =@ (D) THIR
45. fr=fafead § @ &9 @1 o798 F1 Uh IR S aeEs § 2
(A) TR (B) gl (C) ehrfern (D) et
46. The sum of the roots of the quadratic equation 2x2—5x+3=0 is :
3 5
(a) 2 ® © 3 (D) 5
46. TS T 242 —5x +3 =0 AL (F251 Y (T (R 2
3 5
(a) 2 ® © 3 (D) 5
46. RIS NP0 202 — 5x +3 =0 T YER ANG 257 2
3 5
(a) 2 ®) © 3 (D) 5
46. 2x2—5x+3=0 SN FHALTEM JSTHRM ST -
3 5
(a) 2 ® 5 © 5 (D) 5
46. Tgema RO 202 —5x +3=0F Hail H1 AT :
3 5
(a) 2 ® 5 © 5 (D) 5
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47. Who amongst the following is a wrestler ?
(A) Baichung Bhutia (B) Lovlina Borgohain
(€) Sushil Kumar (D) Karnam Malleshwari

47. MR @RS 9 TEEE 2

(A) <iZps goml (B) =Sl aiEE

(C) P F= (D) s e
47. Tfem® M & 9w BT 2

(A) iR glom (B) arefewl weanE

(C) PN = (D)  FETIS STE)
47. TEMEM TR TEE GHARR ?

(A) e yfear (B) e awT'e

(©) i FHR (D) O Heawad
47. Trefafed § § 1 Fyde §2

(A) ST yfe (B) el aTeE

(C) Hea FAR (D) Fim Heeredt

48. A cone has a base radius of 4 cm and height of 9 cm. The volume of the cone is :
(A) 36w cm® (B) 48w cm® (C) 13w cm® (D) 24w cm®

48. <! %P T TPIG 4 (5.1, <17 20T TH©! 9 (5.7, | *FCHI STe (202 ¢
(A) 36w (5.:.3 (B) 48w (5.3 (C) 13w ®.=3 (D) 247 .3

48. T *=FF Gh-RTIE 4 GLA. @32 Tl 9 @A | *giHa Sizre 2= ¢
(A) 36w (L3 (B) 48w (if3 (C) 13w @ifa3 (D) 24w (3

48. 7Y Sierg TEEIR 9 @rer 4 9.M. SR sherga 9 9., | 9 Serg s swei ?
(A) 36w Q.fa3 (B) 48w Q.fal3 (C) 13w G.fas (D) 24w Q.fA3

48. TUH TF & TR & 5501 4 A, IR S9E 9 QAL B 1 I 1 T €
(A) 36w 9.3 (B) 48w 9.3 (C) 13w 9.#H.3 (D) 247 9.3
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49. The Civil wars termed as the Wars of the Roses was fought for which throne ?
(A) British throne (B) French throne
(C) Russian throne (D) Spanish throne
49. (I PIKEPFR AW (@R JF (Wars of the Roses) FI5 2% Al A<D (228 2
(A) 3= i (B) =I5! Fixapm
(C) e Piczew (D) C>ifg kg
49. (ANETIC?R 7 (Wars of the Roses) W3 #&Ib® Jeq@alel (R PReIeR gw) Abe 2w 2
(A) "o Pregew (B) TR Prarw
(C) = Picgr (D) C>ifs Piraee
49. TAEHRA -1 (Wars of the Roses) Hff TER M o¢ TSITHRTEHA TG STEHA ?
(A)  Ifaer TeifeeEA (B)  SRrHfT TSIfER
(C) ufganty TsifEeEA (D) Ef i USifEerEH
49. A& % Jg (Wars of the Roses) e M aTel T84 ford fogmed o fau e 73 972
(A) ffew feemm (B) Y= foermm
(C) & fogmA (D) w1 foerEA
50. Which State is the Dandiya Raas a popular folk dance of ?
(A) Rajasthan (B) Gujarat (C) Odisha (D) Maharashtra
50. WIS IPT (P ST GF TR (@S] 2
(A) drerEH (B) weals (C) Tl (D) =g
50. Gifess A (P AT G0 SRR (TIPS 2
(A) ez (B) TR (C) sfex (D) 2RIG
50. <1< 1 96 TSI §g HEHE ?
(A) TSTEIH (B) TSI (©) Sfed (D) e
50. eifean T4 fFg T5T 1 AwiTT @ T T2

(A) TSTEIH (B) TSId © siifem (D) WHeErYe

x
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51. Which country did the martial art Taekwondo originate in ?

(A) Thailand (B) China (€) Korea (D) Vietnam
51. DIRPRICS! TN 7 FAI0K TeAfE (@i (e (2fee 2

(A) BT (B) S Q) ifa (D) few@Baw
51. R SEERITIF Beslfe @ (est 2

(A) TS (B) S Q) i (D) fewre
51. SRR SRY qEers 31 ool e SHERHM ?

(A)  9Eee (B) =M (C) hfm (D) fiRrdTm
51. CHEFEIES! A9 T i Scdta fohd S0 H g8 2

(A) oS (B) <A (C) I (D) foaam™

52. Consider the five numbers given here :
i 736 (i) 269 (iif) 958 (iv) 219 (v) 793
Arrange the digits of each number in descending order. What would be the difference between
the highest number and the lowest one ?

(A) 222 (B) 716 (C) 618 (D) 12

52. 2@ {60! TR (X7 2
G 736 i) 269 (iii) 958 (v) 219 (v) 793
ASTH! FRANE TF (20! TYTAS AN HZS A < TN T AR WeR ALFE T 529 2
(A) 222 (B) 716 (C) 618 (D) 12

52. QA @we A6 AN & ¢
i 736 d) 269 (iii) 958 (iv) 219 (v) 793
ATSTH(O AL SECF TSGR A | A TR R TR AR W&y AL F I 2
(A) 222 (B) 716 (C) 618 (D) 12

52. B AT SHSTHRRE! FSi 8
G 736 d) 269 (iii) 958 (iv) 219 (v) 793

oo =

A% A fHRRE! gREre-r wikEre |s | < 3T gefad SHfSmEI Teie et

oY ?

(A) 222 (B) 716 (C) 618 (D) 12

52. &3 U v Hemsti W fa=m =
G 736 (i) 269 (iii) 958 (iv) 219 (v) 793
Y &A1 & 3ehi bl Hed A H FATd i | ol 9 3R ol SIS H -1 Sl T 2
(A) 222 (B) 716 (C) 618 (D) 12
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53. In which city is Dalal Street located ?
(A) Kolkata (B) Chennai (C) Hyderabad (D) Mumbai

53. TIETE Bib (I A0S SRES 2
(A) TRl (B) (oW (C) TIMIRM (D) 912

53. TIEAE (25 (PN *I2(F SRFS ?
(A) T (B) R (C) M (D) =12

53. Tald f&ger @1 ?
(A) eIl (B) =g (C) TAEgEIS (D) H=IE

53. T Sre frg et # Red €2
(A) RIcThT (B) = (C) TWIE (D) Y

54. As per the diagram, which zone represents married nurse who should be sent for training ?

Nurses in
Hospital
2
1
417\ 5\
6 3
Married Trained Nurses
Population
(A) 2 (B) 4 <© 3 (D) 7
54. ove fous (@INCG! Sz 2f¥rweR i oAfsareen iz sifmiftee afshifag s ¢
Bfree Fxiw
QRRIRRA]
2
1
417\ 5\
6 3
ofepe 2fje Aifeif
Rifee T
(A) 2 (B) 4 <© 3 (D) 7
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54. ove fog SERIE (iR SikHfG atf e oo st The [Rifze apfom afsffig s

REISGERI]
2
b /1 7\ 5\
6 3
faifes Geicat eApifre b
(A) 2 (B) 4 © 3 (D) 7

54. GEMR Td, 99 WsT BRIYE Al e ThraE! fefemr ?

TET RIS
JERIT
2
L /e 7\ 5\
6 3
2 BT FHA
IR T
(A) 2 (B) 4 (C) 3 (D) 7

54. o3 T IR@ % AR, SiF 91 & foanfed 76 o <ot & 59 wfveror 3 ferg s s =nfew ?

HHATA
R
2
b/ 7\ 5\
6 3
- ; yfwfara 79
(A) 2 (B) 4 <€) 3 (D) 7
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55. Which of the following is an Assamese jewellery item worn in the ears ?

(A) Golpata (B) Horinsokua (C) Jonbiri (D) Thuriya
55. [INMEIRS (FIRG! 020z SIS Bl @ ST Sl 2

(A)  STeel (B) e ©C) canRRE (D) R
55. TIod (TG (b ST SR Al FIC 7 2 2

(A) slETsiel (B) ey ©) conRE (D) g
55. TR o6l STHHAT TeTral W T ?

(A) T (B) ®REgan (C) SHfaR (D) 9gfen
55. frefafed § 9 ®F- & § 98T S AT ST ST 2

(A)  TTeTHd (B) wRTwEgen (©) Smfed (D) gfen
56. Identify the pair which does not follow the common pattern.

(A) 6:0XYGEN (B) 5:ARGON  (C) 7:CADMIUM (D) 8:BROMINE
56. GCNZO R BIH| SRPRe 9@ al (R Bl 35 |

(A) 6:0XYGEN (B) 5:ARGON  (C) 7:CADMIUM (D) 8:BROMINE
56. (@ (GGl AKe T (2GI) SEPRE FC T O e 0 |

(A) 6:OXYGEN (B) 5: ARGON (©) 7:CADMIUM (D) 8:BROMINE
56. ST SET TEARRENG TE fRTae Artar foe 9’ ?

(A) 6:0XYGEN (B) 5:ARGON  (C) 7:CADMIUM (D) 8:BROMINE
56. 39 IS i TEEH HL S T e T qIer & Ll

(A) 6:OXYGEN (B) 5: ARGON (©) 7:CADMIUM (D) 8:BROMINE
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57. Kalbelia is a folk dance form of which region of India ?

(A) Kumaon region (B) Chota Nagpur region

(C©) Konkan region (D) Thar desert region
57. IENRER] SO (I ST (SIS T 2

(A) TR S (B) (RTII7E See

(C) (I T=ee (D) 2 =gl weea
57. JRIARTI ST (T SHETH GF06 @) ?

(A) T O126a (B) (R walsfg e

(C) TF S (D) <= SRPGf eea
57. HASeard YRAMN J6 SEe ge JmEe ?

(A) FHE HEA (B) I MR STHIA

(C) hepd SE (D) R STl BT SAE
57. ehIOSITerd YRA & TRy &5 1 Sl ol St § 2

(A) TS & (B) BreT AT &

(C) HichYT & (D) ¥R IATEM &=
58. The three angles of a triangle are in the ratio of 1: 3 : 5. The largest angle of the triangle is :

(A) 70° (B) 90° (C) 120° (D) 100°
58. @bl fqgem ffG! T 4 1: 3 : 5 Sgoires itz fToEtoR IZe (o T ¢

(A) 70° (B) 90° (C) 120° (D) 100°
58. @3 [qorer foalb (IR g 1:3: 51 [qoeitvd Jged (Al 22 ¢

(A) 70° (B) 90° (C) 120° (D) 100°
58. TiH SEUUM @ AIRRM TqA™T 1:3 ;5 | EH @AM

(A) 70° (B) 90° (C) 120° (D) 100°
58. T FYS o Al 01 1:3: 5% TIA H B1d & | B[S il FaIg o721 0 & -

(A) 70° (B) 90° (C) 120° (D) 100°
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59. From the Constitution of which country, the concept of residual powers in the Constitution of

India has been borrowed ?

(A) Belgium (B) Canada (C) France (D) Switzerland
59. SRES RO SRS NG L0l (PIFAL (IS 21 TR R 2

(A)  (eTfem (B) Tl ©) =™ (D) pEENCETe
59. SRS R SRHE O Aell (I (e AR (A A N A 2

(A)  (eTfem (B) <ol ©) T (D) VRERETIY
59. el TR HFGiieE! qRa Sfafsee 961 96 ged Sfafseiee o= S ?

(A) SefsE™ (B) hMIeT (C) wrd (D) YESIReivE
59. RA % HiGHH H AR aFaie w1 STEHRon R 9% & |ioee § o T § 2

(A) s (B) TSI (C) W™ (D) fETseie
60. Which of the following countries does not exist presently ?

(A) Switzerland (B) Czechoslovakia (C) Germany (D) Poland
60. FEREIRS (@MLE oM TET TS BT A ?

(A) pEEINCETS (B) GFwltszT  (C) @it (D)  (olteTes
60. T (P (b IO TG 2 2

(A) TSI (B) GEE™T  (C) Wi (D)  (olleTes
60. TR STel BIGW AIferehTeATe Tiferan ?

(A) HEEIRATE (B) Weh'wA'difRAT  (C) ST (D) TS
60. freferfad 4 @ -9 ou adHr 4 st § 798 8 2

(A) faEesRee (B) woI@@mear  (C) SHAT (D) drie

<
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61. Which of the following is incorrectly matched ?
(A) Class Ilever : Pliers (B) Class II lever : Nail cutter
(C) Class III lever : Nutcracker (D) Class II lever : Bottle opener
61. RS (NG Swmertd e el (2 2
(A) =¥ (¥R forem ¢ 2rg (B) Mol (TR foTeR™ ¢ 74 F6! Tod
Q) TOR (¥ feTei ¢ M Tel T (D) TSR T oTeX ¢ I6e[ AT (A Tor
61. S (FIAG ST WCICR 2
(A) e (@R forer ¢ fouifs (girpf) (B) faoR (« foreld ¢ 79 FHF 77
Q) TR (IR feToR ¢ wife (A6 @FE) (D) faor (@TR e ¢ @ree (e 8
61. TIEMEM & YR S AR ?
(A) grEn 1 fife : we (B) @l I ffa : ST ern sy
(C) gl 111 f<fa : fagem e o' Hrame (D) er@ 11 f3fiE : oe wam
61. Tl § & wF-91 Teta gafed €2
(A) A [ iter : g (B) o II oifeR : AeT sheX
(C) T III EffeR : TEohahl (D) & II SeR : Sl 39
62. Who played the title role in the 1969 version of Dr. Bezbaruah ?
(A) Nipon Goswami (B) Biju Phukan
(C) Dwipen Baruah (D) Brojen Baruah
62. T (G (ABTGRA 1969 FLKHITS (I N Giere Sz TR 2
(A) Wom carmrsT (B) Tz
(C) Blol F=Al (D) & =
62. ©° (IEEAE 1969 FLHAC (F 2l Bfiw] Al SR 2
(A) WoR carmrsT (B) Tz
(C) RItoAw T (D) e I
62. 1969 UMM T. S&%al G WAL MR fahafmgt IR ArmHE ?
(A) 7o T (B) fory perd
(C) fgu =r%en (D) SIS sr%a
62. <l G Hh 1969 GERUT H it yftrert fordq fuE 2
(A) o e (B) foy g
(C) f&ir e (D) oS =T

Paper-IVIF 39 P.T.O.



63.  Which of the following is NOT an Assamese novel ?

(A) Adha Lekha Dostabez (B) Deu Langkhui

(C) Xekh Pristha (D) Ontorip
63. SRR (SIFCE G SPITRI ToiefT 7=y 2

(A) ST IS (B) (M8 #RYT

(C) o =l (D) @t
63. IO (NG SPTTRI GATIA 3 2

(A) Sl (& ABIES (B) (VT #RYT

(C) o =p (D) @t
63. TR S& STHHAT Het |l ST 2

(A) e feran gt (B) <9 AIgs

(C) & ge (D) TRy
63. TrAfafEd § § HH-1 STHHA ST T § ?

(A) ST TTET SIS (B) ST

(C) 39 Y= (D) ™
64. Which state is the official sponsor of Hockey team of India ?

(A) Punjab (B) Odisha (©) Haryana (D) Uttar Pradesh
64. (I AT OIET ZH] ToTH HIBI SIS 2

(A) AgR (B) Sf=m (C) =z (D) T&F AT
64. (I ST ST 2fF W IR ICARTE 2

(A) #lig (B) efexl (C) ==I=I (D) T el
64. HRAM B'feh TSI W@ Heg B TErsie o« ?

(A) =TS (B) Sfea (©) wfEr (D) S YW
64. G I okl S H1 SUHIE TSR Hi-H1 T4 8 7

(A) U (B) siifesm (©) zfamm (D) W H<
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65.

65.

65.

65.

65.

If SATURN is coded as TZUTSM, then how will URANUS be coded by same plan ?

(A) TSZOTT (B) VQBMVR (C) VQBOUS (D) VSBOVT

M SATURN & TZUTSM f2pI@ 3% 341 2, (9% A7*! 9a(d URANUS & (SIS 6 ][ 2] 2

(A) TSZOTT (B) VQBMVR (C) VQBOUS (D) VSBOVT

M SATURN (F TZUTSM TR FHRge | T, SR @32 W30 URANUS (I FOIR A0S
TR ?

(A) TSZOTT (B) VQBMVR (C) VQBOUS (D) VSBOVT

€ SATURN 1 #e@&t TZUTSM @reiHl, 37sal URANUS 9 #e@t drs Weir i ?

(A) TSZOTT (B) VQBMVR (C) VQBOUS (D) VSBOVT

IfC SATURN &I TZUTSM % &9 | whifeq foran T 8, @ 36 A1 & 3TTER URANUS &1 oy whifed
ERISIUIY

(A) TSZOTT (B) VQBMVR (C) VQBOUS (D) VSBOVT

66.

Rearrange the following components to form a correct sentence.
(i) where no man had

(i) here we are strolling

(iii) ever set foot before

(iv) on the surface of the moon

(A) () - () - (i) - (@) (B) (i) - (i) - () - (iv)

(©) (@) - @{v) - @) - (i) (D) (@) - (@) - () - (i)
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67. Who of the following is NOT a Lawn Tennis player ?
(A) Leander Paes (B) Vijay Amritraj
(C) Mahesh Bhupathi (D) Pullela Gopichand
67. FIRGIRS (@RaRIF a7 (Gfg (250 721 2
(A) TTReR (o (B) e Srpesie
(C) ez golfs (D) ST calisTiow
67. IR (TG & (G (AT 7 2
(A) TTReR (7] (B) e orywae
(C) ez woifo (D) el canfomiw
67. RS S Y TeRE 9R oF a9 et ST 2
(A) fR=R T8 (B) forctd ST
(C) oW yu'fa (D) Yeiet TR
67. Trefafed & @ = a1 e faares & 2
(A) foadet o9 (B) fosra AT
(C) W ufd (D) Yeten TdteE
68. A metal sphere of radius 24 cm is cut into 8 equal pieces and one piece is melted in the form of a
sphere. The radius of the new sphere is :
(A) 12 cm (B) 8cm (€) 15 cm (D) 10 cm
68. 24 (5N IPIZT GBI GISFNT (AerFs FIS I 8 ©lot T T WR: TN AI9F 5T IF (9T SAFFo®
A (FRI T | g CIIFTFCOR JPAE 23 8
(A) 12 @f (B) 8 @™ (C) 15 i (D) 10 G
68. 24 AL IR @I 47 (IEFE 8 T T ©itot T T W @R GFH FRENT (T I
AN T | ool (MR T 2 ¢
A) 12 L. (B) 8 @fil. € 15 @ (D) 10 @i
68. 7Y 24 V.. W'EE WA GG SETE! WA 8 WIS SREAE SR | faft 9d Wk safe 2R geR
HIY ST S | S TieH et 4 @ren a9 ?
(A) 129fm (B) s4u.fu (C) 1549fu (D) 10 &.fA
68. 24 9.7 =1 A1 U &g o TS 1 8 IR ThHS H I S § 3R Teh THS 1 el 6 &9 firsrerrn

B PRIcE R e kR
(A) 12 9. (B) 89 (C) 15 G (D) 10 &.45.
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69. If cosb= %, then the value of sin6 is :

a5 o 12 o 2 o 1
®) 1 ®) © 13 ®)
69. ﬂﬁcose=%,rc@\o sin® I I ¢
N S g 12 o 12 L B
®) 13 ®) = © 13 O I
69. ﬂﬁcos@z%@,%sineﬁﬁwwz
N S g 12 o 12 L B
*) 13 ®) = © 13 O 1
69. Tﬂ;ﬂ'cose:%,WsineﬁﬂﬂT:
N 5 o 12 o 2 L 13
69. "’Jﬁcosez%,?ﬁsinewmz
N 5 b 12 o 2 L 13
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70. Which of the following is a State of the United States of America ?
(A) Hawai (B) Fiji
(C) Papua New Guinea (D) Solomon Island
70. FEERS &G SR TeRTT 92 ey 2
(A) =R (B) f#fa
(I ILNRTERID (D) o Q1717)&
70. TI6A I N geA1E 9 ey 2
(A) FeAR (B) ffa
(C) st WT @ (D)  CGICEH &1917)&
70. TEEM o3 SAHh S Bl HI Y TIS ?
(A) wEE (B) s
(C) urgen = firfq (D) A" fqIwR
70. fr=fafed § § SFA-1 9gF T5F SR & T TT T2
(A) e’ (B) TSt
(C) Trgen g fie (D) WM g9
71. Who or What is Doraemon ?
(A) A river in Brazil (B) A Hollywood actor
(C) A type of aircraft (D) A cartoon character
71.  (OIIN ' & Sl (i 2
(A) aIferR @<= Tl (B) @IRISI 2T SerTol
(C) R 9Bl & (D) <5t S5 5f7g
71. (OIS A F 2
(A) FifeeR 3 a0 (B) ZfelET ¢ wfeETel
(C) & FReR R (D) & Fp1 6f7@
71. ST HR Tefl A1 ?
(A) sfSafT g (B) wfergef wafefafil
(C) TEmd 3 (D) Y HEA-3Tg
71. SRAM M a1 FE?
(A) TSI it TH TG (B) Wk iciige Afyan
(C) T YehR hl o (D) T A aRA
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72.  Who amongst the following has been awarded the Gyanpith Award in 2024 ?
(A) Gulzar (B) Arup Kumar Dutta (C) Ratan Thiyem (D) Nilamani Phukan

72. EGR @ 9_IFIF 2024 I @A I61 AW TN T20T 2

(A) TSR (B) S@eiFRwE  (C) Fod (D) Wi e

o

72. 90 TERSTR N0 (& 2024 I REAAS ATRIE $R© A 2

(A) TSR (B) SRAFIRWE  (C) Fodl A (D) T Fa

72. 2024 AEYEM JAGES TG TR EAT B SE) 2
(A) TSR (B) &Y FAR A (C) T faam (D) faa'afq gerd

72. Trefafea § 9 fd 2024 & JUS (R § GATHA fohan T § 2
(A) TSK (B) &Y FAR T (C) T faam (D)  irerafor Gk

73. Identify the sport related to (Major) Dhyan Chand.
(A) Football (B) Wrestling (C) Boxing (D) Hockey

73. ((TOR) GBIV (FI0S Gow (A& A% Bl 9 |
(A) FOI (B) = ©) o= (D) T

73. (TVER) DI A AiiFe (24eift Hize T
(A) T (B) & ©C) IoI= (D) T

73. (HSR) SE<gl dd TS 9l < ?

(A) Feaa (B) THAEAHA (C) drE™ (D) T’

73. (USR) ©AM=e 9 Hated @dl i 9edH |
(A) Feaid (B) (C) HeRhaIST (D) ®al
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74. 1If sinf=cosf then the value of 1+tan® is :

(A) 1 (B) 2 © o (D) V2

74. I sind =cos0, (OCF 1+ tand I A
(A) 1 (B) 2 © o (D) V2

74. MW sinh=cosd T O 1 + tanh I < 2
(A) 1 (B) 2 © o D) V2

74. i sinf = cosd AT 1+ tand 1AM :

(A) 1 (B) 2 © 0 (D) 2

74. I sinf = cos0, W 1+tand FHHAA T :

(A) 1 (B) 2 © 0 (D) 2

75. A geometric figure has two pairs of parallel lines, intersecting at right angle. One pair is of length
8 cm each, and the other pair is of 6 cm. If the longer pair size is increased by 2 cm each, while the
shorter pair is reduced by 2 cm, which of the following statements is correct ?

(A) Area of the figure decreases (B) Perimeter of the figure increases
(C) Perimeter of the figure decreases (D) Area of the figure increases

75. @ @5 e Hge e (@ FAF AR AN ([ SR 2@ @@ A4S
8 (5.1, SI= SFCIRT Oy 6 (5.5, | I HiRe (A ARRIRT ST 2 (6.1 03 Jfa o pfd e s
2 (6.5 & g 9 =, cors MEfefie @ Ofe we 29 ¢
(A) oA cFawe g #ii7 (B) To@woR sif<eT Iim 7
(C) Tarb 21T g™ 7K (D) TawR ez I 217

75. @36 SIfNfes f5ra 12 (Siel TG @21 g, T I (M I | G50 (e afsfog o 8 @i
G o) (eeld 6 (L. | I T ceareln Afelber 2 ¢1LRL S e w1 =7, © (=26 oo ¢Fed 2 (LA
T T, S o (@i [T 7o
(A) otz Ffer g1 =i (B) Tormm iffd 3w ~ica
(C) Toram «ififa g s (D) Toram et I i@

75. T8 SREIHAR HedfsemEE S A fe SEer @ iy @' gEH g |El | SR e 28 A,
STRETE ST 6 W.f. | Jfe eafes sk 2 9., W S TR gies st 2 9.5, wgaE S,
37eeT 9 fargferan o ?

(A) TR e EH st (B) ERFIfS fommn anm arst
(C) ERffS fommen e Srerret (D) hIfeTal IR STt
75. T SAMHAT Thfa H THia W@l o & SIS B 8, Sl THahI0 R Y=g Hid ¢ | Teh SISl i qars 8 Tt

2, SR T SISl 1 e 6 9 T 1 A o9 SIS 1 Toie H 2 U SR S 8, Sk Sie Site i 2 U A
fopen S &, < Fefafed o § s 91 e 98 © 2

(A) 3TH{T H TR 5 S & | (B)  3Teh{d =T URHATT ol T |

(C) i o1 qRETY e g | (D) 3THfd 1 &TFHA G © |
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76.

76.

76.

76.

76.

A sector of angle 30° is cut out from a circular disc of radius 6 cm. The area of the cut sector in cm?

units is :
(A) 3w (B) 4w (©) 5w (D) 6w

6 (51 TPIES @F J&1 211 30° (Flet AT Bt Jede T Tiveal 21| JeIeBR cFawa Gk 9TF9
EXS
(A) 3w (B) 4w (©) 5w (D) 6m

6 (1.1, PR @36 JePR BIFTS (AT 30° (FIR G 6T FI6I 2 | (0 (Tl Jeaaifog Fifer (1.2
G(F T 2
(A) 3w (B) 4w (©) 5w (D) 6m

6 9.f. 9@ T GE SER o1 R 300 @ 1 AT AR Skl g e S | R SR @t
Shiferen 9.f7.2 grfeare S

(A) 3w (B) 4w (©) 5w (D) 6m

6 W4, o= areh U JarR femh @ 30° vl &1 U Bds wer S 1 we gu s w6 aawd
M2 sPEA AT :
(A) 3w (B) 4w (©) 5w (D) 6m

77.

Identify the correctly spelt word.
(A) Conservation (B) Consarvation

(C) Conservetion (D) Conservasion

78.

78.

78.

78.

78.

Which is the odd one out of the list ?
(A) Chapters (B) Preface (C) Index (D) Book

] wiferre (@] SIfE 2
(A) I (B) Mol (C) b1 (D) feiof

Siferole (TS R 1 e 2

(A) SR (B) ¥¥&= © b (D) ®
RIS Figea! At fegd -

(A) = (B) W HRAA (©) e wRk (D) foms
A H A A A ASIS ®?

(A) =™ (B)  wr&re (C)  STFHHAOTR (D) T=h
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79. Mark the correct word as synonym of “affluent”.

(A) Meeting (B) Discussion (C) Wealthy (D) Poverty
80. Near which place, a statue of Jongal Balahu has been erected ?

(A) Raha (B) Dibrugarh (C) Dhuburi (D) Karimganj
80. (TG Jo1ed AfSYE (I BT e F7i F41 (2T ?

A) = (B) fesrw © &= (D) <l
80. (SIEE ToT2d IS (T T 6 Bloie 1 (R ?

(A) = (B) e © &l (D) <Rig
80. ST 91 g THEE! o1 wEAT Sl 2

(A) Ta (B) fegms (©) ¥R (D) HRHT=
80. It oIcTg ot Tl ford T o Fehe enfua =i T8 B2

(A) @ (B) feqme (© g (D) TS
81. Which type of Democracy is presently being practised in India ?

(A) Direct Democracy (B) Representative Democracy

(©) Social Democracy (D) Totalitarian Democracy
81. IS CNCS (FHRLF 97T 2bfeTe ?

(A) = Sliog (B) dfoHiageTs siere

(C) ANTES siereg (D) SNl 9lereg
81. TEAW OIS (T R slT0F ebfers ?

(A) oo SoF (B) dfoHfagsers sl

(C) fes alerog (D) SRR 9oreg
81. STfRETee WRAE HI YEWH ggg@t-o T4 JH] ?

(A) St geato (B) o< gowty

(C) AR Yoa@rt-< (D) H& TSR gewt-«
81. WA # IdHM ¥ ford YR i 0TS Faferd © 2

(A) Y& drhdd (B) wfaffy crekd

(G I SERGIERE (D) SAfYAEFaTEl et
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82.

82.

82.

82.

82.

Who has won the highest number of gold medals in the Olympic Games ?
(A) Mark Spitz (B) Michael Phelps (C) Jesse Owens (D) Paavo Nurmi

(I ST (25TS A FRAF GIR WS #1S FRCZ 2
(A) IF Foig (B) WA (R (Q) (TR S@E (D) et gfif

e~ Fiel efsrfaeom & AR ARAF Tl oS FERE ?
(A) F e (B) WiIEA @ (C) (ST ST (D) #icet i

Al aeEeEEEE 9RE g9 sifgT T'919 9ed < 2

(A) TR T (B) WEhd Hheqd  (C) S e (D) 9’ 3H
Acifyeh @l § gaiferesr w0l qeeh fora Sid & ?

(A) TR foags (B) TWIEhd oW  (C) ST e (D) Tl T

83.

83.

83.

83.

83.

Which of the following is correct ?

(A) Volcano cannot exist underwater.

(B) Sea does not have any water current.

(C) Almost 70% of earth surface is filled with water.
(D) Land mass is almost half of earth’s surface.

et 2 (! wg 2

(A) SRR ANE oo I8 A< @RI |

(B) SIS (I 490 AT Gif® T |

(C) IR THASER A’ 70% ©lal AIE SRR Sz
(D) 7JfRSR THAfeIoT AT Sas e TS |

e Traie @A ww 2

(A) R s SRR A (16 = |
(B) T[CHA (I THACES (73|

(C) T e == 70% @9t Tite 7l |
(D) ~feTR sjroa =7 =S gereial |

TR &1 A ?

(A) 31Tl drares § e o)

(B) el Se § SRR |

(C) B9 U™ 70% SRR 3 S e |

(D) T-Er<IsT S-9I 4 Ered |
frfafea 8 9 -9 9@ § 2

(A) SOTEE T % e HiSE el @ Wehell |

(B) UYZ ¥ SIS SIAYN & T

(C) gedl il T I IR 70% HFT THT & RT3 T |
(D) 4T Yool Y TAqE 1 SIS ST g |
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84. If P, represents the product of the natural numbers from 1 to n, then P;+P,+P;+P,is:
(A) 23 (B) 33 (C) 37 (D) 31

84. IM 19 91 n (=1 SIS FRYIERE [<0FeT S P, (BT FF, (SCF Py +P,+ P, +P, T3 2
(A) 23 (B) 33 (C) 37 (D) 31

84. M 1 (ATF n *AE Tl FISew wore P, Rl e 771 & 9@ P, +P,+P,+P, T3 ¢
(A) 23 (B) 33 (C) 37 (D) 31

84. fg P, i fafeim smfsmn 1 Fopm n fomfy ArsTemel &, 31T P, + P, + Py + P, 1 A
(A) 23 (B) 33 (C) 37 (D) 31

84. AP, ,1 ¥ nTh H WHfaeh HEA 1 TOHEA 1 G 8, A P+ Py + P, + P, 1 TAH &
(A) 23 (B) 33 (C) 37 (D) 31

85. Which Hindi poet is known for “Madhushala” and “Agneepath” ?
(A) Ramdhari Singh Dinkar (B) Haribansh Rai Bachchan
(C) Sumitranandan Pant (D) Maithili Sharan Gupt

85. (TR Tl R “THiAr” wRe “Sf2sieF” AE TS 2
(A) IS PR s (B) =<l T o5+
(C) ARG g (D) CaIfeT! ol @

85. (I f2fr SR “wigiien” @ “wfaeicen” Ty iffbe 2
(A) ST PR fresg (B) 2R AZ 0B
() ARG (D) CfeE! *e @

85. UR fe<t wremsfifan ‘ weemen’’ o ¢ siftefa ' e fafersen 2
(A) TR 4 feTa (B) ®REe T I=H
(C) g T 9 (D) Hferet wror T

85. a1 fedt wfa ‘mymmen’’ iR sifige’’ o fera ST ST § 2

(A) YR T8 foTe (B) ®Re® 1T =
(C) gfFeTea da (D) Hifereft SR T
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86. Toyota has its headquarters in :

(A) China (B) South Korea (C) Singapore (D) Japan
86. T TTHR YU I SR(TS ¢

(A) B (B) wErel (il (C) Toratizm (D) @l
86. (GICAGIF 3w A TCACZ ¢

(A) B (B) vl (il (C) FEsa (D) s
86. < 'I'TI RIS HIeE o1 515l ?

(A) =M (B) Wren it (C) faEmgR (D) SUH
86. I 1 YA W&l feod ©

(A) == (B)  <faror smifan (C) fEmR (D) SmaH
87. The remainder when —46 is divided by 3 is :

A) -2 B -1 Q) 1 (D) 2
87. —463 3 (I IR LI ©IICAACH! (202 3

(A) -2 (B) -1 © 1 (D) 2
87. —46 (3 QI Ol TCET SRS AT ¢

(A) -2 B) -1 © 1 (D) 2
87. —46 '@l 3 T“ﬁ NEEY! xiI(’1|."|I<4| NG EC IS R21 I

A) -2 B -1 Q) 1 (D) 2
87. & —46 1 3 ¥ fawifsa foran sman B, <t Srowhe ®

(A) -2 (B) -1 © 1 (D) 2
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88. Which of the following places does not host IPL matches ?

(A) Mumbai (B) Dharamshala (C) Patna (D) Hyderabad
88. RS (FIFCG! B IPL (NEf14eT) (Noo[2 SHfoe 127 2

(A) YHZ (B)  <iieTl (C) =5 (D) RTRRM
88. I (P TN IPL (Si2foiaet)-ag (¥etl S 2h =l ¢

(A) =R (B) &sfifeTl (C) =I5 (D) TFwRM
88. TRMAM o STEEE IPL (SEHTe) A St S ?

(A) T (B) s (C) e (D) ®ETR
88. frAfafEd ¥ ®H-91 T IPL (WU ) Hel Fl A& 8l hdl § ?

(A) Hag (B) eI (C) we (D) TeTER
89. Who amongst the following has not won the Jnanpith Award ?

(A) Birendranath Dutta (B) Nilamani Phukan

(C) Hiren Bhattacharyya (D) Mamoni Roisom Goswami
89. MRS (@ SFIR @A 6! 7S 1 AR ?

(A) A 7@ (B) el T

(C) R SEIHRS (D) SR Fa5% CotFmisT)
89. (X TrERom™ W1 (& @IS 7 TR TS FCAT ?

(A) @ 76 (B)  SreTsilel wey

Q) T oEHR (D) ST STl Canmrs
89. TEME SHE R WA FHUS STl WA ?

(A) farsTa < (B) fa'w[ A

(C) f&E auiREE (D) 't TTwm TEE
89. fr=fafea # & forus IS TR & Sl € 2

(A) g T4 (B) remmft ek

(©) fex weramd (D) T ord e
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90. The Padmanabhaswami Temple is in which city ?
(A) Bengaluru (B) Chennai (C©) Madurai (D) Thiruvananthapuram

90. (I IS ATASH A SHFS 2

(A) @R (B) (5HIZ (C) &R (D) fRE=e@T ™
90. THISHIN! IUF (Fi *12(F TRFS 2
(A) T (B) (oHiZ (C) IR (D) ToFITI7I

90. YIMIYTEATH Af<q o ARG € ?
(A) STE (B) =T (C) (D) faear =g

90. TEMIYETH! Hfex forg IRXH T2

(A) STeE (B) =T (C) =R (D) faweraq

91. “The invigilator could not detect that the two boys were exchanging notes under his nose.” What
is the meaning of the marked portion ?

(A) With due permission (B) Right in front
(C) With active help (D) In small pieces of paper

92. Who is the Director of the movie “Village Rockstars” ?
(A) Rima Das (B) Hima Das (C©) Munin Das (D) Queen Das

92, “foreTs THBHR AR @EHR 49 WO (@I 2
(A) v (B) fzu1i mi (C) I W (D) F&= WA

92. “fSreTe TG HAMBLAR 2B (& 2

(A) fastwm (B) fzsri v (C) = 7 (D) 337

92, ‘‘fiyerst THer™’’ {1 GrEYAfT SeAfiEn 9r?
(A) o™ (B) femiT™ (C) {1 <™ (D) %4 <M

92. ‘‘faois Ueheerd"’ fthed o fHe9eh M © ?

(A) w1 ™ (B) Tfemiz™ (C) ¥ ™ (D) Fsd T
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93. Identify the incorrect term in the series.
{5, 8, 13, 20, 31, 40, 53}
(A) 13 (B) 31 © 20 (D) 40

93. {5, 8, 13, 20, 31, 40, 53} *2=T ST “WCH! HAE 75 |
(A) 13 (B) 31 (C) 20 (D) 40

93. =we Fbx g AR s w3 |
{5, 8, 13, 20, 31, 40, 53}
(A) 13 (B) 31 ) 20 (D) 40

93. WRAM {5, 8, 13, 20, 31, 40, 53} A MR foEE TG’ |
(A) 13 (B) 31 (C) 20 (D) 40

93. @at {5, 8, 13, 20, 31, 40, 53} ¥ TG IS & |
(A) 13 (B) 31 (C) 20 (D) 40

94. Fill in the blank.
January was the month last year.
(A) Cold (B) Colder (C) Coldest (D) Cool

95. Which of the following countries is the farthest from Andaman and Nicobar Islands ?

(A) Myanmar (B) Indonesia (C) Vietnam (D) Malaysia

95. SWINN Wi fFIRT Floiolgd 2[1 (@i (mita 73y K 2
(A) Sy (B) Freiwfe () fowabam (D) SreTafez

95. A (A (I SIS @ TTRE B117)@ (A0 AR I0A 2
(A) ORISR (B) BCwitar ) ferweam (D) SR

95. o BIEY ATMH R fer '9R fegmrfTwm smfgame ?
(A) HHAR (B) 3= fE=n (C) ™ (D) WA

95. frAfafEd § § -9 < sfeA 3R FRER g1 T8 4 998 W 7?2
(A) AR (B) gSHf¥EN (C) faaam (D) weiferEn
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96.

Which word would substitute the marked portion - “The Zebra stripes on roads are for crossing by

people who are walking " ?

(A) Pedestrian (B) Pediatrician

(C) Pollination (D) Postulation

97.

97.

97.

97.

97.

Yesterday just after sunrise Rajiv met Samir and was talking, when Rajiv noticed that Samir’s
shadow was seen towards the right of Rajiv. Which direction was Samir facing ?

(A) South (B) East (C) West (D) North

@RI R 03 forere AFIE ATNTE 191 213 T2 A TS AR o7 IR @ TN Q6!
G G FCA AR TANE (@ e 2 I onfes 2

(A) wfERe (B) ™ (C) =If5x (D) T

ARSI VTR #122 AGIR IR A (] T T IR, O AG R o7 961 (T ANNEE A AGIEE
Tl e (7 AR R (@ e 4 763 == 2

(A) Wl (B) & (C) =If*ow (D) &=

o A SHERA 319 UfSen IRE it Ol TR Toerrera oFrETe Afsten oA o afmfy aemeet
TRSE SATRITY Tivers) | S s Jral SeiH ?

(A)  Erente (B) WY (C) IFEfY (D) I
el AT h Sk a1 TSd TR 9 fier iR a1 & ) &, 9+ TSia 7 <@ foh 99 & W ISha &
et &R o © @ ot | HR 1 g fona e o en?

(A) <faqo (B) T& (C) ufv=m (D) W
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2
16% ofw is :

98.
16 x 16
(A) 0.16 (B) 0.32 (C) 0.48 (D) 0.64
2
98. (16 +16)" q169 g ¢
16 % 16
(A) 0.16 (B) 0.32 (C) 0.48 (D) 0.64
2
98. (16 +16)" «x 169 ze1 ¢
16 % 16
(A) 0.16 (B) 0.32 (C) 0.48 (D) 0.64
2
9. (16 +16)" 5169 @ fagd :
16 x 16
(A) 0.16 (B) 0.32 (C) 0.48 (D) 0.64
2
98. (16 +16)" 1169 Tmm ¥ -
16 x 16
(A) 0.16 (B) 0.32 (C) 0.48 (D) 0.64
1422 +33
99. Find the value of 1+——-Y2 N9
1N e value O 2—|—6\/§—|—4\/§
1 1 3 J3
A) o ® = © 3 D) —
1422 +33
99, 1+ NZTONT gy ey w5 |
2463 +442
1 1 3 V3
A) 572 (B) © 3 D) —-
1+2J2 +343
99, 14+ NZTNY g Refa a1
24643 +42
B 1 3 J3
A o (B) © 3 D) —
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99.

1+1+2\/§+3ﬁ it T e

24643 +442
1 1 3 3
(&) 2 B 3 © 3 D) —
1+242+33 :
99, 1+ — =" """ KT HH I H :
24643 +442 e
1 1 3 3
(&) 2 B 3 © 3 D) —
100. A political and legal process by which a legislative body or other legally constituted tribunal initiates
charges against a public official for misconduct is termed as :
(A) Impeachment (B) Re-election
(C) Enforcement (D) Enactment
100. @I R 757! T2 BTSN i W (@I RifeF=e @ e [T spie Spel [a0a
E! TR ST < SN2 AT @t 2 ¢
(A)  SfSCIaE (B) oA
(C) TERHE (D) o=
100. 4 AreAeT ¢ WEM @il A 7= GH6 SET A T SRRy SZHTSIC 20 AR SEmbae
Tel] GG FIFIT PO [0 B9l 97! 9 27 OIS A0 ¢
(A)  wIfe*om (B)  Aetef<ine
(C) IR (D) IR
100. TSGR TR RAT forat-2r Sl 98 SREm e s S A& gs U6 S6l STRARY
TR S SRI@’ o1 M 3G SAeie A=l |11 g1 ?
(A) TS SISIg (B) wr@' frm
(C) SR Q™™ (D) ST WA
100. T TSHideh SR S Fipan e g1 T faumh e o1 o= st €9 9 Tfed =mnfeen fomedt

qrastteh ARR & foe® FEER & o 3" JE 3 §, 98 Hean § :
(A) RN (B) IT:FT
(C) YadA (D) afufrera
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101.

Identify the correct definition of verb.
(A) Naming words (B) Things description words
(C) Action words (D) Joining words

102.

102.

102.

102.

102.

Which of the following countries does the Mediterrean Sea not touch ?

(A) Spain (B) Portugal (C) Lebanon (D) France

FRfETIS (e (i G = 7Ha 2
(A) =iz (B) g (C) AR (D) ™

A (@ (I SRR o Fea = 2

(A) iz (B)  (ollgale (C) (Al (D) T
TSR TR eliet o gIetd eTST ?
(A) wF (B) gamdA (C) <& A (D) W

R frAfafad § & fora <9 6l TE 51 7 2
(A) & (B) de (C) <= (D) W

103.

103.

103.

103.

103.

Which country are Kira and Gho the national dress of ?
(A) Nepal (B) Cambodia (C) Bhutan (D) Vietnam

9 =R (G @ (T SO AG-CARF 2
(A) oI (B) wxTex (C) woN (D) TGN

1 @92 (T (T T TSI (oA 2

(A) oI (B) <cHIw (C) oo (D) fee™
R SR = 31 e IS B T ?
(A) AU (B) wal'fea (C) 9ad (D) ™
fortr 3R =1 fre 91 1 U T © 2
(A) AU (B) hartedm (C) M (D) foardm=
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104.

104.

104.

104.

104.

Which of the following does saliva in our mouth help to breakdown ?
(A) Starch (B) Protein (€) Vitamins (D) Fat

I LS L AR WRFIRS @R [eeims 52w 1 2
(A) oA (B) SPIR (C) el (D) ®F&

A (N0 TS SR Y A AR FCE 2
(A) AR (B) celifoa (C) e (D) &

T S gaeTe Al fHwEAEE S g ?

(A) TmEfg (B) gfed (C) fwertam (D) ©sH

TR Y H oR frefafed § 9 foges fose § ueg &t 82

(A) wHE (B) UM (C) faarfim (D) 9

105.

105.

105.

105.

105.

Which of the following is an example of Indirect Tax of India ?
(A) Gift Tax (B) Income Tax
(C) Goods and Services Tax (D) Capital Gains Tax

A=fie @G Sres “I@rF 399 OF TSI ?

(A) ToRRIF (B) SIS

Q) I SR CRI 9 (D) [E| TS 39
T3 (A SRS AT I Shed 2

(A) TR (B) IR

(C) 8 R (D) &1 311 9

TR &= YRAH Serer s fafeafy ?
(A) SH @S (B) 3™ WISl
(C) o AR HEHT @S (D)  fIet GATRI TSI

frefafea § @ SHi9-91 YR & 379l T 1 30T § 2
(A) SUER (B) ST
(C) %] Td Hal (D) USITG &1
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106. Which of the following is a part of Mahabharata ?

(A) Upanishads (B) Puranas (C) Vedas (D) Gita
106. TR (@G TEroRes @bl T ¢

(A) Toifram (B) =t Q) @& (D) Srel
106. A (PG TLSHCST A 2

(A) Toifram (B) el Q) @™ (D) oot
106. TTEMEM S&&T HEIYRAT @il ?

(A) iR (B) A (C) <7 (D) i
106. Tr=fafEd § 9§ -1 HRIYRA 1 feem 2

(A) iR (B) QU (C) @7 (D) T
107. Which of the following colours is NOT seen on the Olympic flag ?

(A) Green (B) Yellow (C) Orange (D) Black
107. SI>F9 sroiFae WFlkiiie @ 399 2l [ o

(A)  CTESH (B) =& (C) el (D) &
107. A (@ 6T S~ srormm @l a2

(A) Y& (B) z © == (D) <pICst
107. 3ifafraes frfwamme s« e = ?

(A) i (B) TIHITE (GEEZSIRIE] (D) e e
107. fr=fafad § @ wE-91 1 e sae § =6 femar g 2

(A) ' (B) dfem (C) Rt (D) <hTell
108. The product of two binary numbers 101 and 10 expressed in binary numbers is :

(A) 1001 (B) 1010 (C) 1100 (D) 1110
108. 75l @&® el A<l 101 BNk 10 J 5[F0Fe] &S AoeTe i FIE0eT 23 2

(A) 1001 (B) 1010 (C) 1100 (D) 1110
108. %2 fafsie 7127l 101 93 10 93 @eree] f&fsis 71227 2afore e F=0eT 21e3l AN 2

(A) 1001 (B) 1010 (C) 1100 (D) 1110
108. HFA AARSTHHEIR FfSE 101 3R 10 7 FHSTemaE! AAfSHHa Al HEe SRy ¢

(A) 1001 (B) 1010 (C) 1100 (D) 1110
108. <1 fgememd Hemsii 101 3R 10 &1 oHAwe fgenert densti § U o foran S € -

(A) 1001 (B) 1010 (C) 1100 (D) 1110

Paper-IV/F 60



109. As on 18t of January, 2024, who is the President of Ukraine ?
(A) Joe Biden (B) Vladimir Putin (C) Valerii Zaluzhn (D) Volodymyr Zelenskyy

109. 1 7 SFRIS, 2024 AT 28(F2a9 Aol @i 2
(A) o iEe (B) wfhm 7o Q) (SR e (D) SHRTeRR (Sem®

109. 1 =1 QIAIEI, 2024 ACATF 2R AgATS (& ferer 2
(A) el BT (B) wibE sffe  (C) N e (D) weEimbE (e

109. 2024 TEAEM 1 SR @ifafadre oA sRRiREn GrEE ?
(A) S d&eH (B) wfefR gfd  (C) weiR Siegsw (D) w'a'feffR S Tsht

109. 1 SHaRI, 2024 I ok o T hiA & ?
(A) ST faea (B) =fHR gfd () ot S (D) SR Sicieht

110. The product of the mean and the median of the dataset1,0, —5,3,0, —2,4,6, —4,1, 2is:

5 7 6 9
A 5 ®) 13 © 1 O 1

110. G 1,0, —5,3,0, =2, 4,6, —4, 1, 2 oG = NG 2J0[2 2

(A 15 B) 13 © 37 D) 1

110. E%Wﬂgﬁ 1/ 0/ _5/ 3/ 0/ _2/ 4/ 6/ _4/ 1,2&?“% L‘]agﬂw @Wﬁg

110. @A™ 1,0, —5,3,0, —2, 4, 6, —4, 1, 2 T oY 3T AT ARSI ¢

(A 15 B) 13 © 37 D) 11

110. TA V2 1,0, —5,3,0, =2, 4,6, —4, 1, 2 F A1&A IR WIfearsht T OFHA ¢ :

(A) 15 B 33 © 37 D) 13
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111. Which of the following travellers had visited Kamrupa Kingdom ?
(A) FaHien (B) Hiuen Tsang (C) Al Biruni (D) Marco Polo

111. RS @F $=_5! o Qies e ey g s 2

(A) wifem (B) o= ik (C) SRR (D) W AN
111. 9% TElRke @ “faies Sl Ay sifam safeeEs 2
(A) T-REw (B) fGm-e Q) SIe-F (D) SR CoMe
111. TEEE SHE oe I8 AT ey JEsiend TEfe Heimm ?
(A) e (B) feswa @i (C) 3T o% (D) e drell
111. Ffafed & 4 frg 96t 3 FHE T o1 37 fwar or?
(A) ®RIH (B) & M (C) 3T J&Al (D) TR drell
225 25 16
_7 _20 _> _u
225 25 16
112. \/% — \/% ~ar = 7
_7 _20 _>3 _1n
A~ (B) > ©) 9 (D) %
225 25 16
112. \/% — \/% ~ g =7
_7 _2 _3 _u
225 25 16
me. (- [B 16
_7 _20 _> _u
225 25 16
112. \/% — \/% ~ Az = 7
_7 _20 _>3 _1n
A~ (B) > ©) 9 (D) %
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113. Which word would you replace for the underlined word to reverse the meaning of the
sentence ?
“Food in this hotel is worse than that provided at our hostel.”
(A) good (B) Dbetter (C) Dest (D) excellent

114. 72 toffees were distributed to some boys in a group. Each boy in the group got twice as many of
the toffees as the number of boys. The number of boys in the group is :
(A) 6 B) 7 © 8 D) 9

114. <5! VoS ¥ (SRS o1 9 NS 72 AT HfF o] 591 2 | Vel efoe o7/ ©iafe 21 GiReg A<
VTS ! P T AR GO AN | TETCOIS A 7 AT [P ARA (207 2
(A) 6 B) 7 © 8 D) 9

114. 726 5fF G0t (RCT0ral e om0 2 | Weesl Afof (=eet, wieet AP (RGeTens TR el Bfp #1131 | weet
(RIS AR 257 ¢
(A) 6 B) 7 © 8 D) 9

114. T 7T HRA T 72 96 T™ 6T | |ISHe 19 ST g o=@ 12 SR ST T afte
HITET | o BSTTETe |Ied 719 R SHM ?
(A) 6 B) 7 © 8 D) 9

114. TF 99 ¥ T TSHI i 72 AlRAT foafia & 781 T8 H T Teh hl AShi Sl G& ¥ T[T Har
firetf | Tg # eI &l G T :
(A) 6 B) 7 © 8 D) 9

115. The population of a town increases at the rate of 10% every year. If the present population of the
town is 10,000, then after 3 years the population of the town would be :
(A) 13,310 (B) 15,310 (C) 13,510 (D) 13,000

115. (I G2 T/ GPit 2ifs =i 10% T 29 Jfan o117 | T9I9LE T8 So1al 10,000 TC 3 T2 S0

115.

115.

115.

TR I TR 2D ¢
(A) 13,310 (B) 15,310 (C) 13,510 (D) 13,000

GFH *2F GPRYl 2fS T2 10% 2 I AR | *2@Ha IO et 7 10,000 27, OIRGE 3 IR oK
RESIEERCEE G
(A) 13,310 (B) 15,310 (C) 13,510 (D) 13,000

Y AR g arEiet SRk 10% g 9REE | Sfe et gs am@Eist 10,000 27sa sER 3 4

RIS ®|H®If ST 2
(A) 13,310 (B) 15,310 (C) 13,510 (D) 13,000

TF T ! G & T 10% B R G dgdt 1 afg I Fl adq@ SHE@T 10,000 §, 0 3 99 &g
SEEET B
(A) 13,310 (B) 15,310 (C) 13,510 (D) 13,000
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116.

116.

116.

116.

116.

Who wrote Pride and Prejudice ?
(A) Jane Austen (B) Barbara Cartland (C) Agatha Christie (D) Virginia Woolfe

22T 9@ fagfor e (i iz 2

(A) (o SR (B) 3= Ffoeere  (C)  wmane FR (D) wifea T
(T 22T 99 [Age Trdre ?

(A) T S5 (B) IR FOeme (C) =il fFHe (D) wifEw e
I75T TUE J9led B WR o ?

(A) S FERA (B) WRAN &eive  (C) oM frfe (D) wRfSIfn 3o
7 T gyfed faaq fowan?

(A) S SR (B) URAN ®ie  (C) men et (D) S 9e®

117.

117.

117.

117.

117.

A person borrows a sum of < 1,00,000 at a simple interest of 6% per annum for 2 years and invests
the amount at a compound interest of 6% per annum for 2 years. After returning the borrowed
amount with interest, the person earns a profit of :

(A) 360 (B) 120 (C) ¥ 480 (D) ¥ 240

G& 2 A2 6% e o T 1,00,000 51 2 T899 AT R0 1'CE O T2 6% b o 2 I%7 A&
T2 <o Rl SRET | 4I90eT @R 4 0o 2IfRTali T 21ES NESi STei 341 9 e A (202 2

(A) 360 (B) 120 (C) T 480 (D) ¥ 240

O3 & 2 IEF G I 6% T A7 H7 T 1,00,000 TIF 417 (7 G372 BIFl 2 IR G AU 6%
2N 5&q(a 907 RIS @ | 9 72 A1 B (T (eTR 717 Jfeita SIfers #ire 21 ¢

(A) 360 (B) 120 (C) ¥ 480 (D) ¥ 240

I gHfEE SRR 6% BN TRl gg EFM <ER 2 1 9@ 2 1,00,000 I <RRIE A SERIR 6% 81
RIS Ge1'a arER 2 1 o T 6| SRR e T Gesit arie e o WHEiEeT s Jerew
S ?

(A) Z 360 (B) 120 (C) ¥ 480 (D) ¥ 240

T Af 2 |Ia o folt 6% gfaad & HER =s W 3 1,00,000 St TR SR ol § 1R 39 T 1 2 91t
% foTT 6% wfqad o wshgfs = W a9 L ¥ 1 SUR ot TE T =S |igd clieH T AT i oty g
T

(A) 360 (B) 120 (C) ¥ 480 (D) ¥ 240

Paper-IV/F 64



118.

118.

118.

118.

118.

Which present region of India did King Lalitaditya (Muktapida) have his empire in ?
(A) Northeast India (B) Kashmir region

(C) The Kutch area (D) The Deccan region

TEN SIS (i D2t I&7 FAferoifine (J&foml) T 7oy wifee 2

(A) TEIoReRe  (B) IS S (C) FoRwE (D) WifEpeTey Seea

T SIRCSA (P TCE A FAferoifnced (Jefomr) AFiey feet 2

(A) TeR-sfeme  (B) MR SIeE (C) TR (D) wifEpeey Sees

e Afcrarfee (Feamaer) 1 amaEsien Tforare YRa o« SHder ?
(A) H-UEST ¥RA  (B) HRER € (C) %o 3iHEid (D) SRk HE

ST Afediieed (FFTHIE) 1 WHST YRA o fohd oA & § o1 ?
(A) AR 9Rd (B) hYHR & Q) F=3 & (D) <Rk &

119.

119.

119.

Sagor Dekhisa, a collection of Assamese poems was written by :
(A) Devakanta Barua (B) Navakanta Barua

(C) Banikanta Kakati (D) Rajanikanta Bordoloi

AT (R TG AT FR! ARG (@I v e
(A) (&SI =<t (B) TRIE =KL

(©) ATIE FiFfe (D) TCIFIE W

AT TR GO ST FROR AT, BT2ee ¢
(A) R TER (B) «HI® I

(C) ATIE e (D) FCHTIFIE IaWC
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119.

119.

IR figqr, 3rafan weere fesea 9 fomE ?
(A) ST T (B) I a&al

(C) afeRra wreh'fd (D) TSToRIT SRGet

TR fEqr THh STEHa hfaarell s GUe feder gry foran = on ?
(A) SO SR (B) eIk S

(C) =ITIehia ShTehd! (D) TSHIhIA SXGrs

120.

120.

120.

120.

120.

Which country controls the Suez Canal ?

(A) Turkey (B) Israel (C) Egypt (D) France

(I (e RS e faget ST 2

(A) T (B) TRz Q) zfay (D) T

I (] e Qe el 36 2

(A) % (B) TSRS (C) T (D) ™
US| <G a9 BIeU FHel ?
(A) gl (B) ESNIEA © (D) %4

WS &l ] B <91 R s g 2

(A) TH (B)  ESIURS (© fr= (D) W4
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121. Which of the following is NOT a non-metallic mineral ?

(A) Silica (B) Limestone (C) Bauxite (D) Dolomite
121. SR @G o-aeg A e omief 727 2

(A) foferm (B) peIfa (C) (D) @G
121. SI6F (PR T-4red 2Afve 77 2

(A) Frferet (B) pelisfied (C) <=L (D) TCEINIZG
121. TRMAE @1 HqAte @ JHKE T&T ?

(A) Tafeen (B) g TR (C) wHdT (D) TA'AEE
121. ffafed & 9 -9t tufeas @i @ 82

(A) Taferent (B) <T-Yeer (C) dierTge (D) SR
122. Siachen in Ladakh is an example of :

(A) Cold desert (B) Glacier (C) Plateau (D) Snow mountain
122. SCIRF BICH @FFGR GF Tuige ?

(A) #Tros =ogfl (B) fwiz (C) g (D) RS #ARS
122. AW o Triggel == ¢

(A) ol (B) BRI (C) eTgf (D) A 7ifs
122. AR faamesHr 9ed 7 fafafeer

(A) T STl 8T (B) R Il (C) <A (D) X ISl
122. =g # g faenfaq s9en Seeem § .

(A) e A (B) Teug (C) ™R (D) hicl 78T
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123.

123.

123.

123.

123.

For which sport was T. Ao the captain of Indian team ?

(A) Badminton (B) Hockey (C) Football

5 =e (@Y (4eTe SO Weie ST wifes 2

(A) @ORGT ®) = (©) Fo

5. SN (@ (LA SRS Ve TS e 2

(A) TG B) = © Fow

fe. e 9d ARRAEHEE YA g SeTRT Ji ?

(A) dsfi=d (B) ®'wl (C) Fead

fe o1s forg @ & foru vmdig 39 & Sa= 92

(A) et (B) @kl (C) Tesid

Volleyball

eI

O 'ferda

toat
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124.

124.

124.

124.

124.

What should correctly replace @ in the grid ?

13 | 450 | 30
21 | @ 8
32 | 782 23

(A) 196 (B) 184 ©

v o< @ ozt ez afegiom k7 2

13 450 30
21 @ 8
32 782 23

(A) 196 (B) 184 ©

A @ FI (@ AfFor Afegifore g 2

13 450 30
21 @ 8
32 782 23

(A) 196 (B) 184 ©)
@ Gl TSl 2 WG 8 ?

13 | 450 | 30

21 | @ | 8

32 782 23

(A) 196 (B) 184 (@)
fre ¥ @ =1 9! 9% 9 T I 91feu ?

13 | 450 | 30

21 | @ 8

32 | 782 | 23
(A) 196 (B) 184 (@)

214

214

214

214

214

658

658

658

658

658
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125. In Assamese literature, who is known as the “Dhwani Kabi” ?
(A) Binanda Chandra Barua (B) Ananda Chandra Agarwalla

(C) Mahendranath Deka Phukan (D) Mafijuddin Ahmed Hazarika

125. PR AfRere (@ “@H R o Taee 2
(A) Re7 vw I9< (B) Il b sl

(C) Sz (THITI (D) IRrgfwe SNRem FS<H

125. SPTTRI AfRCS) (& “@fd SR e AR 2
(A) a7 v =20 (B) Il b SRSl

(C) 2L (T T (D) Sifrereiue S2rsm S

125. STEHA YAaEdE, 9 e wia’’ gei s ?

(A) o< =g o5 (B) AT == ANTLETA

(C) HR= ST Gk (D) wiFeRf oeie B e

125. 79t wfecd § ** wafq =g’ & 9 9 fwd ST Sian & 2

(A) o =g swen (B) g =g STRETA

(C) HEETY ST Tk (D) WAAIE 3TEHS BT
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Read the following sentences (126 & 127) and try to choose the best definition for the italicized word by
searching for context clues in the sentence.

126. The new shipping and receiving building is an expansive facility, large enough to meet our growing
needs.

(A) obsolete (B) meagre (C) spacious (D) costly

127. Mr. Powers was so gullible that he believed even the most outlandish excuses of his insincere
employees.

(A) intelligent (B) naive (C) dishonest (D) critical

Read the following passage and answer the questions (128-131) that follow :

Today, bicycles are elegantly simple machines that are common around the world. Many people ride
bicycles for recreation, whereas others use them as a means of transportation. The first bicycle, called a
draisienne, was invented in Germany in 1818 by Baron Karl de Drais de Sauerbrun. Because it was made
of wood, the draisienne wasn’t very durable nor did it have pedals. Riders moved it by pushing their feet
against the ground.

In 1839, Kirkpatrick Macmillan, a Scottish blacksmith, invented a much better bicycle. Macmillan’s
machine had tyres with iron rims to keep them from getting worn down. He also used foot-operated
cranks, similar to pedals, so his bicycle could be ridden at a quick pace. It didn’t look much like the
modern bicycle, though, because its back wheel was substantially larger than its front wheel. Although

Macmillan’s bicycles could be ridden easily, they were never produced in large numbers.

In 1861, Frenchman Pierre Michaux and his brother Ernest invented a bicycle with an improved
crank mechanism. They called their bicycle a vélocipede, but most people called it a “bone shaker”
because of the jarring effect of the wood and iron frame. Despite the unflattering nickname, the vélocipéde
was a hit. After a few years, the Michaux family was making hundreds of the machines annually,

mostly for fun-seeking young people.

Ten years later, James Starley, an English inventor, made several innovations that revolutionized
bicycle design. He made the front wheel many times larger than the back wheel, put a gear on the
pedals to make the bicycle more efficient, and lightened the wheels by using wire spokes. Although this
bicycle was much lighter and less tiring to ride, it was still clumsy, extremely top-heavy, and ridden

mostly for entertainment.

It wasn’t until 1874 that the first truly modern bicycle appeared on the scene. Invented by another
Englishman, H.J. Lawson, the safety bicycle would look familiar to today’s cyclists. The safety bicycle
had equal-sized wheels, which made it much less prone to toppling over. Lawson also attached a chain
to the pedals to drive the rear wheel. By 1893, the safety bicycle had been further improved with air-
filled rubber tyres, a diamond-shaped frame, and easy braking. With the improvements provided by
Lawson, bicycles became extremely popular and useful for transportation. Today, they are built, used,

and enjoyed all over the world.
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128. Which of the following statements from the passage represents the writer’s opinion ?

(A) The safety bicycle would look familiar to today’s cyclists.

(B) Two hundred years ago, bicycles didn’t even exist.
(C) The Michaux brothers called their bicycle a vélocipede.
(D) Macmillan’s machine had tyres with iron rims.

129. Read the following sentence from the fourth paragraph :
Ten years later, James Starley, an English inventor, made several innovations that revolutionized
bicycle design.
As it is used in the sentence, the underlined word revolutionized means :
(A) cancelled (B) changed drastically

(C) became outdated (D) exercised control over

130. Macmillan added iron rims to the tyres of his bicycle to :
(A) add weight to the bicycle (B) make the tyres last longer
(C) make the ride less bumpy (D) make the ride less tiring

131. The first person to use a gear system on bicycles was :
(A) H.J. Lawson (B) Kirkpatrick Macmillan
(C) Pierre Michaux (D) James Starley

132. Choose the correct pair to fill up the blanks :

He put some on the hinge, so that it should not

(A) oil, squeak (B) water, spill (C) colour, stand (D) paper, seat
133. This application was written a pen.

(A) by (B) with (C) off (D) nib

134. Find the analogy of the relation between the words from those given below on the basis of the
indicative uppercase word-pair preceding the choices.

SHELF : BOOKCASE
(A) arm:leg (B) stage:curtain (C) bench:chair (D) key: piano
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135. Read the following passage and answer the question that follows :

Light pollution is a growing problem worldwide. Like other forms of pollution, light pollution
degrades the quality of the environment. Where it was once possible to look up at the night sky
and see thousands of twinkling stars in the inky blackness, one now sees little more than the
yellow glare of urban sky-glow. When we lose the ability to connect visually with the vastness of
the universe by looking up at the night sky, we lose our connection with something profoundly

important to the human spirit, our sense of wonder.

The passage implies that the most serious damage done by light pollution is to our :

(A) art history (B) sense of paleness
(©) cultural advancement (D) questing spirit
136. Everyone admired his courage.
(A) at (B) of (C) for (D) no word required

Read the passage and answer the questions (137-139) that follow :

Reality for human beings is not action or feeling but meaning. Humans are symbol using creatures; a
symbol is anything that carries a particular meaning recognised by the people who share culture. A
whistle, a wall of graffiti, a flashing red light, a fist raised in the air—all serve as symbols. We see the
human capacity to create and manipulate symbols in the various ways a simple wink of the eye can
convey interest, understanding, or insult. We are so dependent on our culture’s symbols that we take
them for granted. Often, however, we gain a heightened sense of the importance of a symbol when
someone uses it in an unconventional way. Entering an unfamiliar culture also reminds us of the power
of symbols; culture shock is nothing more than the inability to “read” meaning in one’s surroundings.
We feel lost, unsure of how to act, and sometimes frightened —a consequence of slipping outside the
symbolic web of culture. Culture shock is both what travellers experience and what they inflict on
others by acting in ways that may offend them.

137. In the context of the passage, which of the following does not serve as a symbol ?
(A) whistle (B) graffiti
(C) flashing red light (D) culture shock

138. In the context of the topic of the passage, when do we feel lost, or frightened ?
(A) When we lose in a competition

(B) When we slip outside the symbolic web of culture

(©)

(D)

When we cannot locate our action

None of the above
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139. How is reality defined as in the passage ?
(A) meaning (B) action
(C) feeling (D) web

140. Choose the sentence that correctly communicates the meaning in the following sentence.

(A) Barua was usually able to catch the six thirty-five train from Guwahati

(B) Barua was usually able to catch a six thirty-five train from Guwahati
(C) Barua was usually able to catch on six thirty-five train from Guwahati
(D) Barua was usually able to latch the six thirty-five train from Guwahati

141. What would be the synonym for the word educe ?
(A) demand (B) elicit (C) ideal (D) unlawful

142. Put the verb in brackets into the present perfect tense, and fill the space by repeating the auxiliary.
Where you (be)? —
I (be) to the dentist.
(A) have you had, I have been (B) have you gone, I have been

(©) have you been, I've been (D) went, I went

Read the following passage and answer the questions (143-146) that follow :

The Okapi, a forest mammal of Central Africa, has presented zoologists with a number of difficult
questions since they first learned of its existence in 1900. The first was how to classify it. Because it was
horselike in dimension, and bore patches of striped hide similar to a zebra’s (a relative of the horse),
zoologists first classified it as a member of the horse family. But further studies showed that, despite
Okapis’ coloration and short necks, their closest relatives were giraffes. The Okapi’s rightful place within
the giraffe family is confirmed by its skin-covered horns (in males), two-lobed canine teeth, and long

prehensile tongue.

The vital question concerned the size of the Okapi population. Because Okapis were infrequently
captured by hunters, some zoologists believed that they were rare; however, others theorized that their
habits simply kept them out of sight. It was not until 1985, when zoologists started tracking Okapis by
affixing collars equipped with radio transmitters to briefly captured specimens, that reliable information
about Okapi numbers and habits began to be collected. It turns out that while Okapis are not as rare as
some zoologists suspected, their population is concentrated in an extremely limited chain of forestland

in north-eastern Central Africa, surrounded by savanna.
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One reason for their seeming scarcity is that their coloration allows Okapis to camouflage themselves
even at close range. Another is that Okapis do not travel in groups or with other large forest mammals,
and neither frequent open riverbanks nor forage at the borders of clearings, choosing instead to keep to
the forest interior. This is because Okapis, unlike any other animal in the Central African forest, subsist
entirely on leaves: more than one hundred species of plants have been identified as part of their diet, and
about twenty of these are preferred. Okapis never eat one plant to the exclusion of others; even where
preferred foliage is abundant, Okapis will leave much of it uneaten, choosing to move on and sample
other leaves. Because of this, and because of the distribution of their food, Okapis engage in individual

rather than congregated foraging.

But other questions about Okapi behaviour arise. Why, for example, do they prefer to remain
within forested areas when many of their favourite plants are found in the open border between forest
and savanna ? One possibility is that this is a defence against predators; another is that the Okapi was
pushed into the forest by competition with other large, hoofed animals, such as the bushbuck and bongo,
that specialize on the forest edges and graze them more efficiently. Another question is why Okapis are
absent from other nearby forest regions that would seem hospitable to them. Zoologists theorize that
Okapis are relics of an era when forestland was scarce and that they continue to respect those borders

even though available forestland has long since expanded.

143. The function of the third paragraph is to :
(A) pose a question about Okapi behaviour
(B) rebut a theory about Okapi behaviour
(C) counter the assertion that Okapis are rare

(D) explain why Okapis appeared to be rare

144. Okapis stay within the forest interior. The passage relates this to the of the Okapi.

(A) scarcity (B) mind (©) culture (D) size

145. The word hide in the first paragraph means :

(A) smell (B) evade (€) skin (D) land
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146. Zoologists assume that Okapis are relics and they respect the forestland borders. It means :
(A) Okapis are humanoid creatures
(B) They are culturally inclusive
(C) They communicate with other bordering creatures

(D) None of the above

Change the following (147 & 148) into passive voice.
147. Previous climbers had cut steps in the ice.
(A) Steps had been cut in the ice (B) Steps were cut in the ice

(C) Climbers cut steps in the ice (D) Steps cut in the ice by climbers

148. No one can do anything unless someone gives us more information.
(A) Nothing can be done without giving information.
(B) Nothing can be done unless we are given more information.
(C) Nothing can be done unless someone gives more information.

(D) Nothing can be done without information.

149. Which word from the following is similar to beckon ?

(A) light (B) beg (C) motion (D) hear

150. Which of these words is closest in meaning to the word kin ?

(A) exult (B) twist (C) friend (D) relative
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